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Higher Secondary Exam, June - 2018

002
Subject: ENGLISH SPECIAL

Time: 03 Hours Maximum Marks: 100

Instructions:-
(i) Attempt all the questions.
(ii)  Read the instructions carefully and do accordingly.

(iii)  Marks allotted to each question are indicated against it.
UNIT -1
(Text and Detail study)

Q.1 Read the extract carefully and answer the questions given
below it-
Chesterton has remarked on the loving care and skill
bestowed by them on building up Pithecanthropus a bit of
skull here, a few teeth there, and a thigh bone from
somewhere else-until at last they produce a detailed drawing
carefully shaded to show that the very hairs of his head were
numbered. | am at a loss to express a definite opinion. |
merely affirm that tracks for which no adequate explanation is
forth coming have been seen and will, no doubt, continue to
be seen in the Himalayas, and until the better claimant is
found we may as well attribute them to their rightful owner,
the Abominable snowman-

Questions-

(i)  Who was Chesterton? [1]
(i) Who is ‘I’ referred to here? [1]
(iii) What does the author conclude? [2]
(iv) Give a word opposite in meaning to ‘inadequate’. [1]
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Q.2

Q.3

Q.4

[002]

Read the following extract carefully and answer the questions
given below it-

My whole heart rises up to bless

Your name in pride and thankfulness!

Take back the hope you gave,....... | claim

Only a memory of the same,

..... And this beside, if you will not blame;

Your leave for one more last ride with me.

Questions-

(i)  Why the poet’s heart rises up? [1]
(i)  What does the poet claim? [1]
(iii) What does the poet wish for, from his beloved? [2]
(iv) Find a word which means the same as ‘accuse’. [1]

Answer any six of the following questions in about 30 words [6x2=12]
each-
(@) Why does the speaker invoke the gods-Asvins?
(b) How did Mathilde fare at the ball?
(c) How does the poetess bless the Casuarina tree?
(d) What should we do to solve the problem of fresh
water?
(e) Explain the symbol ‘Horn of plenty’.
(f) How do people who pick things belonging to
others satisfy their conscience?
() Why did Einstein think that he could never pass the
exam for school diploma?
Answer any two of the following questions in about 75-120 [2x4=8]
words-
(a) Write a short note on Netaji’'s military foresight?
(b) How can N.C.C. and other similar organizations help in
making our youth physically strong?
(c) Prove that ‘Ode to Autumn’ is a song of ripeness and
abundance.
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UNIT -1

(Grammar)
Do as directed- (any five) [5x1=5]

(i)  The man asked me, “Do you know the railway station”?
(change the narration)
(i) Heis my Friend. He is wearing a yellow shirt.
(Combine the sentences using a clause)
(iii) 1 shall go to the party if he invites me.
(Rewrite the sentence using ‘unless’ in place of ‘if’)
(iv) The teais so hot that it cannot be drunk.
(use ‘too......... to’ in place of ‘so......... that’)
(v)  The cat jumped............ the well.
(Insert suitable preposition)
(vi) How......... you talk to me in this way?
(could, dare, should)
Do as directed- [5]
(i) How many syllables are there in the word ‘deck’.
(i) Ear......... (CVC, CCVC, V)
(iii)  Write down one five syllable word.
(iv) The story has no............. (moral, morale)

(v) Lead (add suitable prefix to make opposite)
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UNIT -1l
(Fiction)

Answer any one of the following questions in about 120-150
words-
Write about the four persons who were Swami’s friend.

OR

Describe in your own words the activities that took place in
Swaminathan’s house on the night when his new brother

arrived.

Answer any five of the following questions in about 30 words-

(i) How did Swaminathan react when Mani told him about
his intention?

(i) Where did Swaminathan’s grandmother live? What were
her belongings?

(iiiy Describe Swaminathan’s state of mind when Shankar,
Somu and others stopped talking to him.

(iv) What provoked Swaminathan to slap the Pea?

(v) What impressive things did Rajam tell them about
friendship?

(vi) How did Swaminathan solve the question paper?
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Q.9

Q.10

Q.11
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UNIT -1V

(Drama)
Justify the title of the play “The Silver Box”.

OR

Discuss the play’s relevance in the present day

circumstances.

Attempt any five of the following questions in 30 words each-

(i)  What would the member of the Labour party do,
according to Mr. Barthwick, once they came to power?

(i) Describe in your own words the room in which the Jones
lived.

(iii) Who was Livens?

(iv) Write a note on the dramatic significance of the unknown
lady episode.

(v) What does Jones want to do with the money he has got?

(vi) How does the case against Jones proceed in the court
of law?

UNIT-V
Reading unseen
Read the Following passage carefully and answer the

questions that follow-

One day a student of Science took out from his breast pocket
a tube which contained a white powder. He showed the
powder to his friends and explained some of its properties.
About three weeks later a part of the skin next to his breast
pocket began to turn red and fall away. A painful sore formed,
which took weeks to heal. The substance that had caused

this sore on the skin was radium, the magic metal. Radium is
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called a ‘Magic Metal’ because it has certain wonderful
properties. It continuously gives off particles and invisible
rays of energy because of the breaking up of its atoms. This
is called radioactivity. While the atoms break up continuously,
the metal does not noticeably lose weight. It has in it, as it
were, an inexhaustible store of energy. It is also one of the
most useful metals to man, because its property of
radioactivity helps doctors to cure some diseases which they
once thought are incurable. For instance, those suffering from
cancer and some kinds of skin diseases have now hope of
cure.
The discoverer of this magic metal was Madame Curie. She
was born in Poland in the year 1867 daughter of professor
Sklodowska who was a teacher of physics.
Even in her childhood, she was fascinated by books of every
kind-adventure, poetry, science. Often her mother would find
her absorbed in her reading and would say, “stop it and come
and sing to us, darling”. “Play for a while, Marie”. “You have
been reading for five hours now”. and so on. Otherwise,
Marie would not put her books down.
Questions -
(i) Why is ‘radium’ called a Magic Metal?
(i) How radium is proved to be useful to the doctors?
(iii) How was Marie in her childhood?
(iv) Find from the passage the antonyms of the following:

(i) Foe

(i) Gain
(v) Find from the passage the synonyms of the following-

(i)  Which cannot be seen?

(i)  Which cannot be cured?
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Q.12

[002]

Read the following poem carefully and answer the questions
that follow-

HOW sleep the brave, who sink to rest

By all their country’s wishes blest!

When Spring, with dewy fingers cold,

Returns to deck their hallow’d mould,

She there shall dress a sweeter sod

Than Fancy’s feet have ever trod.

By fairy hands their knell is rung,
By forms unseen their dirge is sung;
There Honour comes, a pilgrim grey,
To bless the turf that wraps their clay;
And Freedom shall awhile repair
To dwell, a weeping hermit, there!
Questions-
(i) How are the brave who die for the nation blessed?
(i) What does the phrase ‘fairy hands’ mean?
(iii) What type of poem is this?
(i) A nature poem
(i) A romantic poem
(iii) A patriotic poem
(iv) A descriptive poem
(iv) Find words for the following expression from the text “to

come back”.
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Q.13 Write an essay on any one of the following topics in about [7]
250 words-

(i)  Value of Games and sports

(i)  The problem of unemployment
(iii)  India of my dreams

(iv) A visit to Historical place

(v)  The value of Discipline

Q.14  Sunil studies in class Xll in H.S.S. Khandwa. He has lost his [4]
blazer at the playground on sports day. Write a notice about it
that puts up on the school notice board.

OR

Write an article for your school news letter on the positive as

well as negative aspects of using cell phones.

Q.15  Write a letter to your friend describing the annual sports held [4]
in your school.

OR

You are Suresh living in 18, M.P Nagar Bhopal. Write a letter
to the Municipal Commissioner of your city complaining about
the large number of Malaria cases in your area.
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052
Subject: GENERAL ENGLISH

Time: 03 Hours Maximum Marks: 100

Instructions:-

(i) Read the instructions carefully.

(ii)  All questions are compulsory

(iii) Marks for each question are indicated against it.

(iv) Answers must be complete and to the point.

(v) Internal choices are given in some of the questions.
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Q.1

[052]

SECTION-A
(Reading)

Read the following passage carefully and answer the
questions given below it :-
Discipline must be enforced early in life. Discipline at home
makes for the future greatness of a boy. It forms his
character and makes him a fit citizen. The child who is
allowed to have his own way becomes way-ward. The child
who is allowed all sorts of excesses like running about in the
sun, exposing himself to cold, eating wholesome things, and
as a result will fall ill frequently. A child, whose habits have
been disciplined and who has been taught to rise early,
attend to his lessons properly, take physical exercise at the
proper time and avoid things that are injurious will grow up to
be a useful member of the society. The spoilt child who has
been allowed to run his own course will show vice contacted
in younger days. His parents would wish that he had not
been born at all.
Questions:
(i)  What does discipline do for a child?

(a) Forms character and fit citizen.

(b) Makes child dull.

(c) Makes him strong.
(i) How does a boy’s character form?

(a) By discipline

(b) By good habits

(c) Both the above
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[052]

(iii) What evils does a child pick up when he is allowed to do [1]

what he likes?
(a) Make himself happy
(b) Catch cold and fall ill
(c) Develop good habits
(iv) What are good habits?
(@) Running in the sun
(b) Playing all the time
(c) Avoid things that are injurious
(v) Give a suitable title for the above passage.
(a) Importance of discipline
(b) Running
(c) Playing
(vi) Write antonym of the word ‘discipline’.
(vii) Make noun of the word ‘enforce’.
(viii) What does ‘spoilt’ mean?
(a) greatness
(b) destroyed
(c) injurious
(ixX) What are the disciplined habits given in the passage?

(x) How do the Parents of a spoilt child feel?
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Q.2 Read the passage and answer the questions given below it-
“Where there’s a will, there’s a way”, is an old saying. He who
resolves upon doing a thing, by that very resolution
overcomes the obstacles to it. It is so in all the occupations of
life-at school, at collage or in the world. To determine to
succeed is the surest way to success. Difficulties disappear
before an answering resolution. This was well exemplified in
the life of Napoleon. He threw his whole force of body and
mind upon his work. He was told that the Alps stood in the
way of his armies.“There shall be no Alps”, he said, and a
road was made across them, over heights previously
considered inaccessible.

“Impossible”, said he, “is a word only to be found in the

dictionary of fools”. And so it is; a determination not to give in

is the surest condition of success in any undertaking. But the

young student must carefully guard himself against the errors

of mistaking a mere undisciplined energy and self-will for the

needful firmness and self command on which success

depends.

Questions:

(i) Make notes in points, from the above passage using [5]
abbreviations, where necessary.

(i) Write a summary of the above passage in about 50-60 [3]

words. Suggest a suitable title also for it.
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Q.3

Q.4

[052]

Section-B

(Writing)

You are Secretary of the cultural activities of your school.
Write an attractive notice giving information about the
selection of two participants from your school to take part in
the inter school debate competition. You are Monika of Govt.

Excellence. H. S. School, Ichhawar.
OR

You are Sanjay Rai of 49, Arera colony, Bhopal. Write a
classified advertisement for ‘Lost and Found’ column of a
local newspaper stating the loss of your books and important

documents while travelling in a local bus.

Write, with the help of the words given below, a short note on

‘Importance of developing Reading Habit’.

(i) Field of knowledge expanding fast.

(i) Reading at school limited to subjects offered.

(iii) Extra reading necessary for rounded personality.
(iv) Creation of generation gap.

(v) Continuous reading necessary to keep updated.

(vi) Reading makes a full man

Page 5 of 11
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Q.5

Q.6

[052]

With the help of the words given below, write a report for a

newspaper about the accidents which you have witnessed:
(i)  inthe evening

(i) Acarandabus

(iii) on the road

(iv) people, vehicle involved

(v) the scene of the accident

(vi) hospitalized

(vii) suggestions to the government and people.

You are Deepak Shrivastava residing at Indore. Write an
application to the collector of your district for imposing
restricion on the use of loud speakers during the

examination period.

OR

Write an application to the Post Master complaining against
the postman of your area. You are Rahul Soni from 123,
MPEB Colony, Ujjain.

Write a letter to your friend inviting him to attend your

birthday party.
OR

Write a letter to your friend Rani Soni describing a recent

exciting cricket match in which your team won.
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Q.7 Write an article “on the Advantages of a Small Family”.You [7]
can take the help of following inputs-
(i)  Population growth
(i) Problems of a large family
(iiiy One or two children
(iv) Better facilities
(v) Enjoy life.

OR

Write an essay on any one of the following topics-
a

b

) A visit to a place of Historical Importance
) Importance of Games and Sports

c) Importance of Newspaper
)

(
(
(
(d

Science in daily life

SECTION-C
(Grammar)

Q.8 Fill in the blanks with the help of the correct alternatives [5]

given in the bracket-

(@) i that glitters is not gold. (All, Each, Every)

(b) Ihave.......... money in the pocket. (many, any, some)
(€) .eeennnn. Mahabharat was written by Vedvyas.(A, An, The)
(d) The bus...... ...... comes late, because it is raining.

(may, do, should)

(e) He...... teaching here since 1982. (has been, is, has)
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Q.9

Q.10

[052]

Do as directed- (any five)

(@)

(b)

(A)

This table is too heavy to lift. (Rewrite the sentence
using “so....that” instead of “too.....t0")
her/pen/put/ink/some/she/in

(Rearrange to make meaningful sentence and rewrite)
(i)  The boy is my cousin.

(i) The boy is wearing a pink shirt.

(combine the sentences using relative clause)

We are collecting stamps. (change the voice)

He teaches Hindi. (change into negative)

If Ram does not act now, he will lose everything.
(use “unless” in place of ‘if)

(i) | called him loudly.

(i) He gave me no answer.

(

combine these sentences with ‘but’)

SECTION-D

(Text Books)
Read the following extract and answer the questions
given below-

Ah, you are so great, and | am so small,

| tremble to think of you, World, at all;

and yet, when | said my prayers today;

A whisper inside me seem’d to say -

‘You are more than the Earth,though you are such a dot;

You can love and think, and the Earth cannot !’
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Questions:
(i) Find out the word from the lines given above: [2]
(@) Which is the opposite of ‘inside’.
(b) Which has the same meaning as ‘shake’.
(i)  What does the poet mean by- [1]
‘Ah, you are so great, and | am so small’.
(B) This life is sweetest; in this wood
| hear no children cry for food;
| see no woman, white with care;
No man with muscled wasting here.
Questions:
(i) Find out the word from the lines given above: [2]
(@) Which has meaning similar to the word ‘forest’.
(b) Which is opposite of the word ‘sourest’.
(i) What kind of life does the poet find in the woods? [1]
Q.11 Answer any two of the following questions: [2x2=4]
(@) What are the two meanings of the word ‘cricket’?
(b) Why does the river consider its journey meaningless?

(c) How can one reach the temple?

(d) In what order does the poet wish to listen to the voices?
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Q.12 Answer any seven of the following questions: [7x2=14]
(a) When do we experience inner peace?
(b) What made the author feel secure and why?
(c) Why do you think the bird refused to eat anything?
(d) What are natural laws?
(e) What miracle did the sage and his followers witness the
next morning?
() What will happen when the brain does not get the
oxygen and blood it required?
(g) How, according to the author, are blind people better in
seeing then the sighted?
(h) What was Ghasi’'s complaint to the Panchayat?
(i) How can we free up time?
Q.13 Answer any one out of the two: [4]

How does school life prepare a child to face the outside
world?

OR
Describe the modern days achievements of Indians.
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Q.14  Answer any four of the following questions: [4x2=8]

(a) What risk do we face when we laugh?

(b) What are the distilled book like?

(c) What are the things that appear attractive when there is
sunlight?

(d) What is idleness according to the author?

(e) What do people do for their harvest?

(f) What is the ‘Angel Canyon’ and what is the ‘Churun
River’?

Q.15 Summarise the poem “Cloud”. [4]

OR

“Nature’s bounty is boundless”, explain it.
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(ii) 777 TG T g |
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(iii) @@ (iv) ST
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(i) <ok (i) w:
(i) +rx (iv) =
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(iif) ~ foRT (iv) o9
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(i) e (i) @
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(i) ST (i) Ao

(i) ST+ (iv) TSI

Page 3 of 12

(1x5=5)



U4

[053]

Page 4 of 12

(1X5=5)



9.5

[053]
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(i) e (iv) e
e ey facmye: sTRd—
(i) (iiy fa=m

(iii) fsa: (iv) gfem:
o e e fmfer: afi—

(i) oo (ii) =g
(iii) g (iv) T
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(iii) e (iv) were
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(i) g BT fHH TIERT FHRIMT?

(i) afcreemEy oy e1Ra?
(i) Ra: fpel g wafer?

(iv) AT Y fhe?

(v) DRAT J9grey: wc: Haf?
HETD AU RfeId ATchgavd =i fored—
ST

I gan: ATchar A ford |

MBI 7 AT SR YR T ABRI 2

AT
HERART YORE & §ad | I1RAq Hf galiar: afa?
SUIRT: Hic |fA? A o |

AT
Hfcr SufTETem A | Vo Sufyewr Jm forad |
TGO ATCHBRIVN AT T |

Sl

PHIfTaRIT §AT: WUSHIIAL: A1 forad |
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(i) «mM ¥a OFq &Rk |

(i) AR fdemer ot |

(iii) TR AT TSI IR |

(iv) & BgdIq HIefd |

(v) TOar g |g Tesfd |

ARy TTeqy SATON el /uTfor FEemgar 3y aomy foraa—

(iv) 3T (31T

e ffa:
Tqeft fawfaa:
o fmfa:
g fawfa:

(v) 3ceq (Siferg) g fawfd:
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3FeNferRaay Uemy Igor YA STRIMOT Udhua A¥havyi forad—
) "H quRY B A

i) SEHHEH B:7

i) Brergt It w:?

iv) afelar died dige 31Rd?

V) 99 B Adrae

vi) BT AT I1qUTT?

gaxi: ¥eq: gl A0 dad—

(
(
(
(
(
(

(sgce, Rrgrelv, wedd, TR, &6, forfad: Suad, €

TehaT RTSTAR: Rigrel: fagreM........... T | BT HaA oo

Sl

JexIeleq: IJeoaoid fHod—

(Y, 9afd, yAreT, Jaaf, auwr, Soadl, )T, giorErn)

R o Fdd: AT | T RIS B | I R T

AR T | I BT TG qd: aF=IAd

BifThITa: b | g=dIcdd FadF............. £ 1T~ I I GIDREIEE

TR, T | BITHIHT: BISTTA. ..o 9t |
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() B AT T |
() AT A aTfeeeier |

(i) T AT fO=Tfeh=T: |

(iV) & oo AT A |

(V) ST e YTOTRGETH |

(Vi) T S = |

TR TENRNY TENUEIRI YA ITRIOT FRGHTIRI folerd—

(@) SrTETIRRId T AABARICIGY AR | ISR Ured gfid g€

ORATTH | DRI ERIMY  qdld—<d: qYd  H|

N ON ON

fPariecry RUdR FahRIIIGETTIR JRa: I&T ST

I WG deT dd: dad dedl dfe: ST, 3fSTd: Grae Ud
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(i) UETdere ad: S fhelievgy e

(i) PRI H(A Uldd gq?

(iil) P YR IIoTI A WIfTaH?
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Il 3TT: SRATN: JEARMUVF Ia Heied |
() TRV HAITIDT: D7

(i) DY H STeTeerrad wafa?

(iii) 9EaT U D edAwI?

(iv) IreTf: foq 3raed deiey?

R &0 HERTS: Fhgd: JOUHe oo gedr | dal oy

JoyATRd—"A! Al HEE? KAl HA WA Il TSR

AERTS 79 W @ | o9 Sha A $f IRT? sl HaTy

TIAd wgfeqdd | 7 gaeeq ftaargafd guar warq sfa <«

qoy: Id | HERTS: Taf wifefd Fri=gagaer |

(i) TRRE &0 HBRIG: & o= gear?

(i) &= frspT=1 B IRT: ARG’
(i) @7 TgHa FgleudH?

(iv) @ Ty sifefa FrRisgAgereR?
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(iii) AT BT gATafa?

(iv) ‘g s Ya fqufdd aesa forad?

H1 fecar far wafd, ®re f@er =7 i
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() 3T <0 HUH ARGT?
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SIRY ST I a1 Ada HRonAT |
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(
(
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v) IR T URETST QIR HAT HRofigr?

(Vi) oI DT a1 IS EReAV Hi] A URAT:?

RITTIRTYHTOTIS USRI ST 6 b I o |

AT
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- -
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T /I foreT. (5)

(i) FA IS ATTAT HUSATT T 37,

(i) BT HH BT W AGBIAT TG BRATT AT,
(iii) ATt SITATULAT ST SR JTTaSd 3T,
(iv) 7T ST IR A7 Hfaad siHd idiar TR Bl .

(v) TS ARgRarefiorr ST foet e,

UhT IThAT I Torar. ()

(i) wgamrST™ el =79 forar.

(i) DI AT eRIBTAT DISTSIATd ST SRl ?

(iii) sTSTER Ui YA Tl AT, (f[IRoT SfieE)

(iv) oTE YIHR YU HEd dol. (BIo 3w
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Subject: HISTORY
(Hindi & English Version)

| : 03 TS quTies : 100
Time : 03 Hours Maximum Marks : 100
faeer—

() & 7eT A &

(i)  F¥T FHE 1 G 5 TF JeglI0 797 &/

(i) 5o PHIE 6 & 26 dF H s Rdey 7T 73 &/

(iv)  H7 FHIE 6 @ 10 TF FAF 597 & [o77 2 3% & U9 JhFH &7 Fv
ST 30 ST H forgmr 8

(v) F¥T BHIE 11 & 14 TF FAB F97 & [V 3 3% & U HAPH F97 BT IV
STTHT 50 FIET H forgmm 8/

(Vi)  HIT BHIE 15 F 21 TF HAF J97 & o7V 4 3F & VT FAB F97 & TV
ST 100 F1s5T H foramm &/

(vii)  HIT BHIE 22 H 26 TF HAF F97 & o7V 5 3/F & T HAH F97 B TV
ST 150 915l o forgmm 8/

Instructions:
(i) All questions are compulsory.
(i)  Question Nos. 1 to 5 are objective.
(iii)  Internal options are given in question Nos. 6 to 26.
(iv) Question Nos. 6 to 10 carry 2 marks each and answer should be written in
about 30 words each.
(v) Question Nos. 11 to 14 carry 3 marks each and answer should be written in
about 50 words each.
(vi) Question Nos. 15 to 21 carry 4 marks each and answer should be written in
about 100 words each.
(vii) Question Nos. 22 to 26 carry 5 marks each and answer should be written in
about 150 words each.
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() B BT URPT oo BT H Bl |
(i) g AR D AT BT gTd DI bR T8l o |
(i) TRT BT TOITIT oo DI H-T ST ¢ |
(iv) TORTET & AT BT PO o 3T < HRAMT o |
(V) Bgd AR BT AT e = HRATAT o |
Fill in the blanks:—
(i) In. period, agricultural commencement
started.

(i) People of Indus Civilisation were not aware of .............
Metal.

(i) e is known as Indian Nepolean.

(iv) The construction of Khajuraho Temple was done by

(v) The construction of Qutub Minar was done by ............ :
f=faRaa gt & 9 /3 forRay —

(i) dTeR U & Jg | URISIT 1T o7 |

(i) TRraml Tl ATRME &7 TeH I & ®Y § @7 a8 o |
(i) <R & g & I8 RRIGRIA ST BT 719 §7 |
(
(

iv) fafeer TRER 7 IRA & TRERFTG SN &7 A1 fdhar |
V) STl BT fINTSTE T doid o 1905 | fdear o |

Write True / False in the following sentence -

(i) Babur was defeated in the war of Panipat.

(i) Shivaji wanted Maharashtra to be viewed as One Nation.

(iii) After the war of Plassey, Siraj — ud — Daula became the
Nawab of Bengal.

(iv) British Government destroyed the traditional Industries of
India.

(v) Lord Curzon did the division of Bengal in 1905.
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A 3 B oy W™ T F GABR SISl g8 — (5)

AW 3 AR Y’
(i) e T 99 BT ARAD
(i) @ AT 7o
(iii)  FTRES EARIIIRICE
(iv) Swi IFd 3R g B A
(v) s TR (Plfce)
Make the correct pair for column ‘A’ choosing from column ‘B’.
Column ‘A’ Column ‘B’
(i) Economics Founder of Gupta dynasty
(i) Balban Greece Ambassador
(iii) Megasthanise French Governor
(iv) Duplae Iron and Blood Policy
(v) Srigupta Chanakya (Kautilya)
fr=feRaa arel & fog 8! f[Aded g falkey — (5)
(i) oM &RT |ad ufa=d qA1 "eayol g fhde! A o
(@) @ (@
(@) =T () =R
(i) TRHR 9 BT I Tl ANDH DI 477
(an) TSI I @ yedRS drEE
GIIREEEN @) BfT=h
(iii) PET B ARG B I?
(31) freT e HEar @) w sl EgH
() <TeT 918 AR () HETH e
(iv) T el 7 ARA BT AoHITa H 6 gaer fear?
(@1 1912 . @) 1918 &
&) 1915 . () 1930 E.
(v) e &1 WU fea e § Rea 27
(@) et @) <A
(w) fafeem () SR
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Choose and write the correct answer in the following

questions:—

(i)  Which animal did Aryans considered the most holy and
important?
(a) Bull (b) Cow
(c) Horse (d) Elephant

(i)  Which ruler was considered as the most magnificent in
Parmar dynasty?

(@) King Bhoj (b) Prithvi Raj Chauhan
(c) Akbar (d) Kaniska
(iii) Who was the founder of Congress?
(a) Firoz Shah Mehta (b) A OHume
(c) Dada Bhaj Naoroji (d) Mahatma Gandhi
(iv) When did Mahatma Gandhi steped in Indian Politics?
(@) 1912AD (b) 1918 AD
(c) 1915AD (d) 1930AD
(v) In which district Sanchi Stupa is Situated?
(a) Bhopal (b) Raisen
(c) Vidisha (d) Jabalpur

f=ferRad o=l & SR T 318 31qdT U a1y § ey —

i) Hodq Brel ¥ A Fold DI U TGRS bl ST oAT?

(

(i) TUS €& s & AT foa™ Hramr or?
(iii) ST ATAT YOIl B RMUAT fa @y off |
(
(

iv) 1857 §. @ UM W=l AUTH BT AThIeld BRI T AT?
V) Il BT g b of Sl TAT?

Write the answers of the following questions in one word or
sentence each.
(i) During Sultanate period which ruler was regarded as a

mad king?
(i)  Who did the construction of Grand Trunk road?
(iii) Who laid the foundation of Double Government?
(iv) What were the immediate causes of revolt of 18577
(v) When was the war of Plassey fought?
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TSI 3T 1 b= Wi & frfora fasam wram 272
Stone age was divided into how many parts?

3rerar/ OR

UrIfcreTRIes g &1 T 3ef 27

What does prehistoric age mean?

I3 B F&AT AN gY SAD A foRay |

Describing the number of Vedas, write their name.
3rerar / OR

S #7d H BRS T 2° S9a W oy |

What is ‘“Triratna’ in Jain votes? Write their name.

RISTqadTe a1 uRig Re dwemsil & =M faRay |

Write any two famous education institutions of Rajput Period.

3erar/OR
AleTdTeid a1 #fa’l & A foRay |
Name two temples constructed during Chola Period.
qHIYd & Yo 9§ @ al uRemd forfey |

Write the result of the first war of Panipat.

3rerar/OR
rpeR Bl enfife AT @1 31 fagmant forfay |
Write the two specialities of Akbars religious Policy.
TR & I B al BRYT forRay |
Write two causes for war of Plassey.

a1/ OR
U dAlchd Jg (b — fba & dra garr o7
Between whom, the war of Karnataka was fought?

IPIR ERT oAl & uia fA=ar &1 Aifd oo & 39 SR

Ry |

Write three causes behind following of the Policy of friendship

by Akbar with Rajputs.

rerar/OR
SRTIg Y <faror =fifer @ o gRome feray |

Write three results of Aurangzeb’s (Southern) Policy.
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IO @ g | d1aR DI Fheldl & diF BRI ol | 3)

Write the reasons for the victory of Babur in the war of
Panipat.

3erar/ OR
BRTAE YW & Al HedIUBRI BRI IRy |

Write the works of Public welfare done by Sher Shah Suiri.
ST TEIAT & 38T & A BRI faalRay | 3)

Write three reasons for the rise of Extreme Nationalism.

3rerar / OR
URMIP BTl H ARG IS BT & R I3 7
In early period, what was the purpose of Indian Congress?

RIS 3T & A8 IR GHhT SIfely | (3)

Highlight the importance of Non Corporation movement.

3erar/ OR
HAETHT Tfell & AATHS BT BT quid DI |
Give the description of creative works done by Mahatma
Gandhi.
EHId | A & JAfTHRI IR @il &1 Ffera aoie S| ()
(@1 9R)
Give a brief description of invention and discoveries made by
Human beings during the period of Stone age. (Any four)

3rerar/ OR
U IR Sfag 99 @ foly sifieral &1 91 w8 &7
What is the importance of inscriptions to know the history of
Ancient India.
R T &1 TR FEiT JioEr o IR e faRag | (4)
Write about the four characteristics of the city construction
plans of Indus Valley Civilisation.

Jrerar/OR
O g9 B U TETgd Bl W BT |

Explain the ‘Panch Mahavrat’ of Jainism.
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Ty A # R Y g @t avfe Hif | 4)
Write about the conditions of women in Rajput Society.

gerar/ OR

qfeer WY Hell & &F § Uoold NI BT RIS JaTsd?

Write about the contribution of the rulers of Pallavas in the
architecture of temples?

RSl & ARSI @7 3 & WRI Tl BT g I | (4)
Describe the major sources of income during Shivaji's empire.

3rerar / OR
Ramh & IR Iorifds sreet &1 aReg AR |
Give the introduction of Shivaji’s four political ideals.
RN B gg B GRUTHE B AR B | (4)
Explain the consequences of the war of Plassey.

3erar/ OR
AYFTH WRA P SN SFY & o) Hifeddd WHid HI quid
PR |
Describe literary sources in order to know the history of
Modern India.
T 1857 @I BT & AMDH BRI a3y | (4)

Write the military causes of the Revolt of 1857.

34T / OR
W fadee 9 IR SR § /1 arTer feam?
What was the contribution of Swami Vivekanand in national

awakening?
1857 3. @I B~ H HERM! I&Hl 918 BT ANTEH 1y | (4)
Write the contribution of Rani Laxmi Bai in the Revolt of 1857.

arerar/OR
T YSY H UT UTH RGBT 6T G aRea Iy |

Give a brief description of Ancient monuments received from
Madhya Pradesh.
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I9MH H g ¥ b TIR & oI RT—a1 s fy | (5)
Write the works implemented by Ashok in order to Spread
Buddhism.
3rerar/ OR
T Bl AR SIIBT BT WY o7 | I BIFY |
Gupta period was regarded as the Golden age of India.
Explain.
e P H gU AfAd _ler al faemang forRe | (5)
Write the features of Bhakti Movement during Medieval Period.
3rerar/ OR
JrATSed Raetoll & IoTR =1 @1 fad=e T HIfvTy |
Comment on Alla — Ud — Din Khilji’'s control over markets.
Rrarsht @1 ot T agaven & fawy # forRay | (5)

Write about Ashta Pradhan arrangements by Shivaiji.

3rerar / OR
RIS & IpY B HROT IRey |
Write the reasons behind Maratha’s flourishing.
A 1857 5. DI BT & AHAA] B BRI BT gUF DI | (5)
Give a description of the consequences behind failure of
Revolt of 1857.

3rerar/OR
fafesr =mea & IRd WR UsH el I YHTEl Bl ARAT BT |

Explain the economic effects of British Government on India.
FHdTHT THRI & I F MY T A &7 (5)
What do you know about Bhimbetka caves?

arerar/OR
T USY & gd—Idl ST BT dferd aRed SR |

Give an introduction of the freedom fighters of Madhya
Pradesh.
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120

fawg : amrer
Subject: GEOGRAPHY
(Hindi & English Version)

quifd : 075

Maximum Marks: 075

fAser—

(i)
(ii)

(iii)
(iv)

(v)

(vi)

(vii)

(viii)

Instructions:

[120]

()

(ii)
(iii)
(iv)
(v)

(vi)

(vii)

(viii)

Tt goT sfarf &

ToT HHIE 1 H 4 TF JegIT0 F97 &/ FAD T97 & [ 5 S [T
g/

goT BHIE 5 @ 20 dF § Jidle Aeey Ry 77 &/

goT pHIE 5 @ 8 dF JAB JI7 & forg 2 3w [EiRa &/ srss &ar 30
T |

goT7 BHIE 9 T 12 T AP F97 & o7 3 3d [Feead &1 s &ar 75
T |

go7 HFIH 13 @ 17 TP JAE F97 & [0 4 3 [FRa &/ v1g #ar 120
sz |

go7 HFIH 18 W 20 TP JAE F97 & [0 5 3 [FEfRa &/ v1g #9r 150
sz |

e HHIE 19 1397 & FrfAT B QT & GERT 8/

All questions are compulsory.

Question No. 1 to 4 are objective type. Each question carries 5 marks.
Internal options are given in question No. 5 to question No. 20.

Question No. 5 to 8 are assigned 2 marks each and answer should be given in
30 words each.

Question No. 9 to 12 carry 3 marks each and answer should be given in 75
words.

Question No. 13 to 17 carry 4 marks each and answer should be given in 120
words.

Question No. 18 to 20 carry 5 marks each and answer should be given in 150
words.

Question No. 19 is related to fill in the map of the world.
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91 el fdbey gaex forfau—
(@) WRd & fHd IT5T H AR AH § —

(i) ¥=g ucwr (i) foEr
(i) Bt (iv) SR wRer
@) YRT BT GTffid TR & —
(i) faeel (i) IR (FR9)
(i) waTer (iv) T
@) e fhar o o TEfRa § -
() oTer (il) BT ST
(i) BT ST (iv) SreaTa BT
@) fIenE surd GOF fod < & AT 9 Rfud ® —
(i) T s (i) o o
iy fres (iv) i
() g "ved H HIH 3Hfdd A= H AF T —
(i) fri= (i) aifeiror
(i) BT SRIRITRITES (iv) TSI

Choose the correct option —

(A) Which state in India has the highest literacy -

(i)  Madhya Pradesh (i) Bihar
(i) Kerala (iv) Uttar Pradesh

(B) Holy city in India -
(i)  Delhi (i) Varanasi (Banaras)
(iiiy Bhopal (iv)  Mumbai

(C) Related to primary activities -
(i)  Animal Husbandry (i) Paper Manufacturing
(iiiy Clothes Making (iv) Teaching

(D)  Which country has collaborated in the construction of
Bhilai steel plant?

(i)  Soviet Russia (i)  West Germany
(iii) Britain (iv) France

(E) Which gas is present in abundance quantity in air -
(i) Neon (i) Oxygen
(iii) Carbon dioxide (iv) Nitrogen
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ﬁaﬁwﬁaﬁqﬁaﬁﬁ?— (5)

(31) AT A B THGTAT oo 2|
@ fowa & SodE @) gfe A IRT BT o R T |
() HART BT HATTORCR oo DI HET ST © |
(@) OB BMH 3MA T oo ®I PHEd T |
[) AR D I HAT TSB FATAT oo q® % |

Fill in the blanks —

(@) The father of Human Geography is .........ccccoeviiiiiiinann.
(b) Indiaisthe ............... most populated country in the world.
(C) e is called the Manchester of India.
() e is called the Jack of all Trades.
(e) Manalito.................. road is the highest road of the world.
|qEl SIfedl frarsy — )

(o) @)
@1 AT (i) uf¥=E 9
@ ¥ TR (i) BORT—TISTIYR—STEIRIYR
@) e (iif)  epreft fAed
(@) Pug (iv) ofed
(3) &%t TRl A UIgY eATg (v) 5§
Match the following —

(A) (B)

(a) Megalopolis (i)  West Bengal
(b) Defence town (i) Hazira-Vijaipur-dagdishpur
(c) Jute (iii) Black soil
(d) Cotton (iv) London
(e) The longest gas pipeline (v) Mhow
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[120]

T ared | IR SIfoTg —

(31) |RA Bl W HiY BT gaxy M oy |

@) AARAr B ShaRaEr & ded 87

([d) geve & g1 M ey |

(@) eafy uguor fhd wed &7

(8) S=a UICH I faetes wael &1 M forRe |

Answer in one sentence -

(a) What is the second name of Shifting Agriculture in India?
(b) What is the life line of Siberia?
(c) Write the full name of Internet.
(
(

d) Whatis Sound Pollution?
e) Which is a highly proteinaceous oil seed crop?
AT M T Dls T A9 gR¥ST foriRey |
Write any one definition of Human Geography.
3erar/ OR
@, 3. G b < B A el o= o1
Ku. E.C. Semple was a Human Geographer from which country?
T AfdarT s FEd 87
What is Rural Settlement?

3erar/ OR

T 31T fhd FEd &7

What is Urban Settlement?

URAT AT T H T <R IR |

Write any two difference between Poorva and Village.
gt/ OR

RFHT gfeed a1 BT XM 9780 |

Draw a diagram of the Arrow Pattern Settlement.

TITIROT GGHOT T 3fef feTRay |

Write the meaning of Environmental Pollution.
gt/ OR

arg Yyl & PIg & HRY fARAY |

Write any two reasons of Air Pollution.

Page 4 of 8

(5)

(2)

(2)

(2)



9.9

v.10

g1

U112
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[120]

dftrerTg e Wi B B d faRivan iR |

Write any three characteristics of Gandhi farm of Tamil Nadu.
3ear/ OR

Uh T §87M8 dI i faevarng foafRag |

Write any three characteristics of a good seaport.

IRA ¥ Sl G & R 7 dig dF S failag |

Write any three measures for the conservation of water resource in
India.

3erar/ OR
IR | QST AARAT & HRET0T B Big i U eIy |
Write any three measures for the conservation of mineral resources
in India?

TSH URIET & HIg A9 A8 foIfRay |

Write any three Importance of Road Transportation.
3rerar/OR

vl qRagd & BIg o o ey |

Write any three advantages by Railway Transport.
ARART 91 | 8 dTel ®Ig I 31vcae] ot folRaw |

Write any three Indirect advantages by Indian Forest.
3rerar/OR
TRAG T4 & IRETT & Dls b ST foIRay |

Write any three measures for the conservation of forest in India?
ST & fAdRYT U9 ged Bl UTfad dRe dTed BIs IR BRS follRay |

Write any four factors affecting Distribution and Density of

Population?

3rerar / OR
IRA ¥ ST gfg Bl AP & Dls IR SUM oIl |

Write any four measures to control the Population Growth in India.
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[120]

RATIARID PV a1 2?2 $HD! By A [derary foray |

What is Commercial Farming? Write its any three characteristics.

3rerar/OR
oY SENT Ud g8q SENT § Bhlg IR Fgcdqul <R (aIlay |
Write four main differences between the small scale and large scale
Industries.

U9 e} @ Iy IR ATARG Agd oy |
Write any four importance of Panama Canals in trade.

YT / OR
ST EY B PIs IR ATITRE A foIRay |
Write any four importance of Suez Canal in trade.
TRAY STHEAT & A fageand faRae? &g ar

Write any four characteristics of Indian Population.

3rerar/OR
ART H UaNT & sl aR SRl & falay |
Write any four reasons for population migration in Indian.
AERT ¥ Al 9 TN & dIHY & blg IR BRI [ofREy |

Write any four reasons for location of cotton cloth Industry in
Maharastra.

3rerar/ OR
IRA BT ¥ 6 enfiids &3 & Fed € iR aai?
Which Industrial area is called Rur of India and why?
SHIBTITSE P FIT 87 D! DIs IR Y faervamg forfey |

What is Subsistence Agriculture? Write any four main

characteristics of Subsistence Agriculture.

AT / OR
ATET Ud ST ST & fava faaror &1 forfRav |

Describe the world — wide distribution of Iron and Steel Industries.
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faeg & dMeR AFfts § F=faRed geigy —
(i) o TR

(i) ST B @
(i) FSTTRDR
(
(

iv) ST ¥ gATH ST AN

V) i diferd X AN

Show the following in the outline map of the world -

i) Panama canal
ii) Bay of Bengal

(

(

(i) Madagascar
(iv) Water route from London to New York
(v) Rail route of Trans-Continental.

3rerar/ OR
fovg @ NHeR Tt § fA=faRad goisy —

) SR¥ AR

i) AT I

iv) ¢ sfPsas Yo At
V) WISl TR

Show the following in the outline map of the world -

(
(
(i) ®UCST A HAdH oA AN
(
(

(i) Arabian Sea

(i) New York Port

(iiiy Cape town to Melbourne Water Route
(iv) Trans Indian Rail Route

(

v) Suez Canal
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ARA H g IR B foly maegsds Hiiferd 2y forRay |
Write the geographical conditions that are required for Wheat

Production in India.

3191_C|T10R
YR PIY BT BIs UM YT FHRATY IR |

Write main Agricultural Problems of India. (Any five)
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130
I - ST o
Subject: POLITICAL SCIENCE

(Hindi & English Version)
quries : 100

Maximum Marks : 100

fdfer—
(V)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
Instructions:-
(1)
(ii)
(iii)
(iv)
(v)
(vi)

(vii)

[130]

& goT Sfaars &/

7eT #1 W &5 TF JeGITT FIT & HAF T 5 3 F BT &/

T¥7 . 6 & 26 aF FAF H s fAweq 4 17 &

JoT & 6 & 10 TF JAF 2 3% P & OOV [or@ P &5 AT TTHT 30
I B/

goT F 11 & 14 TF AP 3 3F HT & OV leiegd Pl 97 HAT TTHT
75 &g &/

JoT & 15 & 21 TF AP 4 3F HT & OV leiegd P 7 HAT TTHT
120 7155 &/

o7 & 22 W 26 TF FAF 5 3F HT & OV [eiegd P T HAT ATHT
150 915 &/

All questions are compulsory.

Q. Nos 1 to 5 are objective type each question is allotted 5 marks.

Internal options are given in Q Nos. 6 To 26 each.

Q. Nos. 6 to 10 carry 2 marks each and answer should be given in about 30
words.

Q. Nos 11 to 14 carry 3 marks each and answer should be given in about 75
words.

Q. Nos 15 to 21 carry 4 marks each and answer should be given in about 120
words.

Q. Nos 22 to 26 carry 5 marks each and answer should be given in about 150
words.
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|l fdmeq -
(@) faed ucer fod 0 o &7
(i) dffrerTeg

[&

(1) g W b s g e @
() e

(i)  SIREM HT
(i) feTdxR ST BT
(iv) goME e
Select the correct Answer-
(a) Vidarbha is in which State-
(i)  Tamil Nadu
(i) Maharashtra
(iii) Gujarat
(iv) Madhya Pradesh

Page 2 of 8
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(b) The fourteenth Non-aligned summit was held in-

() India
(i) Zimbabwe
(i) Cuba

(iv) Indonesia

(c) The colour of the background of the Flag of United
Nations is-
(i) Red
(i) Green
(iii) Blue
(iv) Orange

(d) Where did India performed first atomic test-
(i) Pokhran
(i) Jaisalmer
(iii) Alwar
(iv) Jaipur

(e) Meaning of co-operation is-
(i) Government service
(i) To do operation
(ii) To work Together
(iv) To open shop

9.2 Rad ™l @7 gfed HIfoTg—

(i) e | § ST TR = e

(1) I TRIITE FHATfad T ¢ |

(iiii) T UFIETT AT Ao H o ge |

(IS H TS AT BT |

(V) aa=dl @ gd R Hoo <o Ramad ot |

Fill in the Blanks-

(1) e Presented objective resolution in the
constituent Assembly.

1) T State is affected by Naxalism.

iii) First five year plan was started in the year....................

iv) Lucknow Pact was signed intheyear...........................
v) The numbers of Princely States before Independence
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[130]

T /3T DI UgdT DIfoTi— (5)
) WA 30 ISR 1945 DI YA I DI AG &1 |
i)  WeRAT 3TQTe, AFIGIRIS &=dIg & IaTERVl T |

(
(
(i) aRAT AHSIar |9 1991 H FH< H) fear T

(iv) fea 9% & eue &1 994 Ae TSl g7 fhar S 2|
(

|

(

v) slidid & sffdeier faril dig gdigedl 7 |

dentify True\False statement-

) India became member of the United Nations on 30"
October 1945.

(i) Khalistan Movement is an example of communal
Regionalism.

(i) Warsaw Pact was cancelled in the year 1991.

(iv) The selection of President of the World Bank is done by
the member countries.

(v) Majority of Srilankans are the followers of Buddhism.

TP e /qMd H IR SIoI— (5)

(i) dTeThe HHSICT Be FIMT oA1?

(i) IARPT BT RT AW RAT 82

(i) dedrxor 1 alRvmT fRav |

(iv) |R@IIS IqRATE FT 57

(v) fdea wmeg Ge e wIfud gaie

Answer in one word or sentence-

i)  When was the Tashkent Pact signed?

ii)  What is the full form of UNESCO?

i) Give one definition of Globalisation.

iv) What is Cultural Liberalisation?

v) When was the World Health Organisation established?

AN AN N SN /N

TS q TS I— ()
QU 3y’ Qg g’

(i) el T (i) 1922

(i) dIRa® ™ &1 AT (ii) SIS 1972

(iii) aTRRFTeT A (i) STfcraTe Ud Jierfaeary

(iv) Rmem Fweiar (iv) 1952

(V) oTmIfraraRer H qrer (v) dedraoT
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[130]

Match the column-

(A) (B)
(i) Disarmament Commission (i) 1922
(i) Making of Global Village (i) July 1972

(iii) Treaty of Washington (iiiy Casteism and
superstitions

(iv) Shimla Pact (iv) 1952

(v) Hurdle in Modernisation (v) Globalisation

AR oo & fH<l T SRV BT Seeld DI |

Mention any two reasons responsible for the Partition in India.
3rerar/ OR

RO AR & P ar aRemH oIl |

Write any two consequences of refugee problem.

g% forardhd Hsiiar @1 &1 o fofRay |

Write any two conditions of Nehru-Liaquat Pact.
3rerar/ OR

gHT 3 TRIS &-T ofT?

What was instrument of Accession?

AHEH STREIIE &7 52

What is collective Responsibility?
3rerar/ OR

dfae e JIorr @ fhel a1 faeRivdre o1 fala |

Write any two features of Cabinet Mission Plan.

FRIST 21 B & T S B AR |

Write two objectives of International Monetary Fund.

GTWTZOR
Al D1 WATIAT B T LI 27

What are the objectives of establishing SAARC?
TR AR ARHT & 7T AGHE B Pl &I BRI ISy |

State any two reasons for dispute between India and America.

3erar/ OR
e el & =0 urae™ 1 97

What were the main provision of Shimla Pact?
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Afqere oo @ B8 9 smavgdanrt faked |
Write any three needs of making Constitution.
3rerar / OR
T I @1 faRryany ford |
Write the characteristics of Parliamentary form of Government.
ARG Afqee @ ®ig o faemard forlkey |
Write any three features of the Indian Constitution.
3rerar/ OR
ARG Afae™ @ ®1g a9 Sia folked |
Write any three sources of Indian constitution.
ferefiameor & Ant @ A= w9 9aqrsy |
Write three obstacles in Disarmament.
3rerar/ OR
AYFT MSHAY & A IEAT BT gUIF BIFY |
Explain any three objectives of the United Nations
Organisation.
favg WRey 6T & BIS IF BRI Id=Y |
Write three functions of the World Health Organisation.
3rerar/ OR
Ggad I FE B TG 3 BT ook DI |
Describe main organs of United Nation Organisation.
o o & 35 IR T fRIVARI faRa |
Write any four characteristics of Backward Classes.
3rerar/ OR
I faer aRyg & w1t &1 9viH BRI |
Explain about the functions of National Development Council.
3 AT §R B v RATI AU §RT YATad SRl &6

oI N |
Explain the measures proposed in Indian constitution to
remove economic inequality.
sierar/ OR
e dRE FReRdT, JAfdd & Wd=dT &I d1ied ddl &7
How does illiteracy, constrains the freedom of an individual?
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AEHINAT 3N Bl A & Dl IR HRUT TR | @)
Write any four reasons for the failure of Co-operative
Movement.

3rerar/ OR
M AT IR & Bl IR HRIT Bl foIRay |
Write any four functions of National Women Commission.
YRA §RT CRUETT &I A YR S & IR HRT el | @)
Write any four reasons as to why India adopted the policy of
Non-alignment.

3erar/ OR
AT gg & dRDI 31 AR ¥ fao=mr S |

Explain in detail the reasons of the cold war.
JMRTAT B RATYAT & T I 77 (4)
What are the objectives of establishing “ASEAN"?

grerar/ OR

fawa §& @ @13 T B?
What are the functions of the World Bank?
SMA®T B THA FTHAT S Ufd IR ToIRAT 74T 872 (4)
What is Indian’s view point towords Tamil Problem in Srilanka?
3rerar/ OR
HRA TG ARy & §1d T4 & IR HROT g8 |
Give four reasons of tension between India and Bangladesh.
JedIdHRoT & BIg AR faRman falRau | (4)
Write four characteristics of Globalisation.
3rerar/ OR
ST TBIPROT & AT FLA0T &7

What are the features of Modernisation?
FER TR W TH e forlay | ()
Write an essay on Kashmir Problem.
3erar/ OR
IRA | T & Yied &I JAMaIdhd] B IRAT DI |
Explain the need of re-organisation of states in India.
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RIS &7 31ef W $Rd gU 5HG Il UR Tl Iy | (5)
Discuss the aims of planning by clarifying the meaning of
Planning.

3rerar/ OR
YT S SR SIS & Hedroned dF—abF Al AN aells
SIRERS
Write about the schemes being implemented for the welfare of
Scheduled Castes and Tribes.
ARd H &39d1% & SCT & BRI BT oI o | (5)
Explain the causes of rise of Regionalism in India.

3rerar/ OR
HIYTATE TR AHI g PIg Urd geia forlRed |
Write any five suggestions to curb linguism.
ART ¥ AT AATFIHIUT & oI Faenfed gavent $iF A1 87 (5)
What are the constitutional arrangements for Women
Empowerment in India?

3erar/ OR
IRA ¥ TAfaRui YWl & I HIROT 82
What are the causes of Environmental Pollution?
IRA & fagwr i & Aifers g a—aF ¥ 2° e )
PR |
What are the fundamental principles of India’s Foreign policy?
Explain?

AT / OR
TRd &7 AT &7 g9ifad o el BRI B AdaqT HIfoTv |

Explain factors affecting India’s Foreign Policy.
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[140]

o goT sifard &

J¥T % 01 § 05 % Tegi10 F97 8/ JA% & [ord 05 3w [FRT &'/
7T HHF 06 W 26 TF Sakd [@dHeq &/

77 HHF 06 W 10 TF FAF GV 02 3% &/ I HF7 30 T &/

7T HHE 11 & 14 T J&AF G 03 3% &/ I WA 75 T 8/

7T FHF 15 W 21 TF FAF GV 04 3 &/ TT AT 120 T &/

To7 HIH 22 & 26 dF JdPb GV 05 3k &/ I HHT 150 7 &/

All questions are compulsory.

Question No. 1 to 05 are objective Question each carries 05 marks.
Question No. 06 to 26 is having internal options.

Question No. 06 to 10 carries 02 marks word limit is 30 words.
Question No. 11 to 14 carries 03 marks word limit is 75 words.
Question No. 15 to 21 carries 04 marks word limit is 120 words.

Question No. 22 to 26 carries 05 marks word limit is 150 words.
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qel fased gig —

()

AT RIS 6T ey fhar ordr 8 —
(1) it srefeme #
(1) Al speferes #

(any Ik ma H
(V) T A Ao
THIABRT TR A RAT 3MT & —

(I) a8 Bar vd fasar 1w & |
(1) Rrad war gd faswar g &

1y 59 fasar sMa &8 |

(IV) o+ fasar ua &

ok H 89 IGHed § —
(1) T e &
(I  Td ;=R

() e <

(IV) U s
oG & —

() Sad fa=sm

(1) ®ac Bl

Iy  fI== vd Bel
(IV) = fasi= 9 &er

frfalRaa & & @19 a1 Ut o § —
(1 SIRER

)y  afiue o

iy i aR

(V) g &
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Choose the correct alternative —
(A) General Employment is studied under -
(I)  Micro Economics
(1) Macro Economics
(1l1) National Income
(IV) National Production
(B) Monopoly market means —
(I)  Where sellers and buyers are many
(Il)  Where sellers and buyers are limited
(Il1) Where many sellers are there
(IV) Where Seller is only one
(C) By market we understand —
(I) A Special area
(1) A City
(111) A Country
(IV) A State
(D) Public Finance is —
(I)  Only science
(1)  Only Art
(I1) Science and Art
(IV) Neither Science Nor Art
(E) Which of the following tax is direct tax —
(I)  Income tax
(1) Commercial tax
(1) Capital tax
(IV) Expenditure tax

[140] Page 3 of 8
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ﬁzﬂ_\rma%{ﬁw— (5)

()T 151 21 1 A YHR BT BT 2 |

(@) AT BT FTRIT TP oo FHYU T |

(@) T H G B BT H o g &1 IR ¢ |

(@) I ST H G BT @ &1 gad 2 |

) fora fag R |9y ART e 997 gl aRER Bl 8 1 S
..................................... HET AT B |

Fill in the blanks —

(@) Thereare ........c.cooveeeni. types of elasticity of demand.

(b) Lawofdemandisa .......ccocoviiiiiiiiiiiiiniiiieen, term.

(c) Increaseindemandisaresultof ...................... in price

(d) Increase in National Income is an Index of

...................... progress.
(e) The equilibrium of aggregate demand and aggregate

supply is called ................... demand.
EN ST IR - ®)
CACLEC N CACECH
3L M qAT ISR RIgT= . Sdis
9. Ui @ U+l /I I 1. . fe<
PR oA B |
d. HaT U ™l AfST 7| . RS 9% &ifw sfoear
T &l &1 wfie sl V. =g g @RI 2 |
3. d® &1 dB V. & BT H94
Match the following —
Column ‘A’ Column ‘B’
a. The principle of income . J.B.Say
and employment
b. Supply creates its own [l. Prof. Keynes
demand
c. Moneyis Good Servant [ll. Reserve Bank of India
d. Primary Function of money IV. But bad master
e. Bankers bankis V. Measure of value
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T /39T H IR DI — )
3. HaT 98 & SN G&T BT B DX |

9. UR Ao, YaH Ao &1 3 7 |

H. YA Ao gHEI Hdford X8 © |

T UR Ao H g9 Ud 3G Tl He WAMHC Bl 2 |

3. Ogford ot e e & foy e 7|

Write true or false —

Money is that which works as money.

Balance trade is a part of balance of payment.

Balance of payment is always in balance.

Balance of trade incudes both visible and non visible
items.

Balanced budget is Gift for economic development.

Q_CB I H SR ST — )
WRER goie fha a9 & forg g9l 2 |

goic &1 BIs U faomdr R |

GADBID! B TSI ¥ fF YR BT 3edId Hd Bl 27
anfefr SRR frd ded 27

fR &1 g o forlRad |

nswer the following in one word/ sentences —

For how many years the Govt. makes the budget.

Write any one characteristics of budget.

What type of study is possible with the help of index
Number?

What is called Economics Barometers?

Write any one merit of Range.

Hmfmﬁw%r@ﬁl (2)

Write the law of demand.

Qoo

®

OCT O P> M a4 2 g

©Q

arerar /OR
ART B I/ A RT3 22

What is meant by elasticity of demand?
fereafad ama @1 a1l foRad | ()

Write the meaning of Per Capita Income.

STWTZOR
IS 3 BT 31t ey |

State the meaning of National Income.
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TATIYET HT BT 31 gaersy |

State the meaning of effective demand.

3rerar/ OR
AT (Bel) AT A FT e 27?
What is meant by aggregate demand?

Fden® &1 et falay |

Write the meaning of Index Number.
3rerar / OR

rqfeRor BT 37ef faaRay |

Write the meaning of Dispersion.
qaT BT 372f gaelsy |
State the meaning of money.

3rerar / OR
gfase a1 o1 87
What is Fiat Money?
TR e &7 faREr™ a9y |
Explain the Sir Geffen paradox.
3rerar / OR
Uil dereaR ART fhd dHed 87

What is meant by perfectly inelastic demand?
Rer AT fhd e B7

What is meant by Fixed Cost?

Jerar/OR
ofcf & foem &1 afas awssy |

Explain the law of supply with diagram.

e @l Brg A faervan fefe |

Write any three characteristics of Index Number.

GT?JHTZOR
fadere @ dis dIF #ed foRay |

Write any three importance of Index Number.
g fdaed & dIs i o7 Tl |

Write any three merits of standard deviation.

3erar/ OR
A fage & dig dF T fotfRed |

Write any three merits of mean deviation.
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15 A U9 fte e #§ $IE IR iR 9d1gd |
State any four differences between Micro and Macro
economics.

AT / OR
e 37AM &1 Bl IR fAIude foTRay |

Write any four characteristics of Micro Economics.

716  H&T & Bls IR DR ol |
Write any four functions of money.

3rerar/OR
RSTd db i 3f0saT & BIs IR B IR |
Write any four functions of Reserve bank of India.
917  UHMIGR IR & DIy IR faRman faRey |

Write any four characteristics of Monopoly Market.

3rerar/ OR
gof iRl IR @7 &8 @R faRvang forRed |
Write any four characteristics of perfect competition.
918 IR Hdeld Ud YA A H Py IR iR forfRed |
Write any four differences between balance of trade and
balance of payment.

gerar/ OR

YA AT S PIs IR A Bl TS |
Explain any four importance of balance of payment.
919  Ud 3! IR YUl &I DIy IR faRmang faRay |

Write any four characteristics of a Good Tax System.

AT / OR
BRI B DIg IR S [l |

Write any four objectives of taxation.
G20  3UMARY & Py IR I I8 |
State any four objectives of Dispersion.

3erar/OR
[AWIR & PIg a1 T[0T AT DIs &l QY R |

Write any two merits and two demerits of Range.
421 g€y & PBls IR A foIRay |
Write any four importance of correlation.

3erar/ OR
BTet [UIET FeaF Ul & Bl al—al oI ay IR |

Write any two merits and any two demerits of Karl Pearson’s
coefficient of correlation.
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Rer @mTa e uRad=eiiel AFTdl § I8 Ui 3fax forRad | (5)
Write any five differences between fixed cost and variable
cost.

STWTZOR
ART B I BT GAIIT B dTod bl Ui dedl bl forRad |

Write any five factors affecting the elasticity of demand.
T I BT Hew fbedl urd fawgei # adrsd | ()

State the importance of National Income in five points.

3rerar/ OR
AR H T 3T B B8 & BIg Urd BRI QT |
Give any five causes of low national income in India.
T AT BT S1h B B Dlg Urd SU foIRad | (5)
Write any five measures to check the deficit demand.
3rerar/ OR
RIS & PIg Urd HRON DI fTRay |
Write any five causes of unemployment.
golc ® PIs Urd 923y fIRay | (5)
Write any five objectives of Budget.

Jrerar/OR
gore faamt & ufhar &1 gassy |

Explain the procedure of the budget making.
TETH= B hlg Urd YHRI Bl foIRa | 5)

Write any five types of correlation.

AT / OR
o= armsl & YA famre™ Sd BINTR |
SED 0—10 | 10—20 | 20—30 | 30—40 | 40—50
foemeital &1 G 12 21 23 34 10

Calculate the standard deviation from following data.

Marks 0-10 | 10-20 | 20-30 | 30-40 | 40-50
No. of Student 12 21 23 34 10
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(1)
2
(3

(4)
(5)
(6)
(7)
(8

i geT i &/

T97 U7 H § @US & U “F” Fiv GUS T/

Gue ‘g F 3% T g7 FHE 1 W 5 AF GO FIT & HAF T 5
3F BT &/

GUE ‘g H g HHH 6 W 26 T aARF AFey 39 73 &/

o7 HHIE 6 G 10 TF JAF 2 3F &7 &/

o7 HHIE 11 G 14 TF G5 3 35 BT &/

o7 HHEH 15 § 21 TF JAE 4 3F BT &/

go7 HIH 22 & 26 % YA 5 3 BT &/

All questions are compulsory.

Question paper has two Sections :— Section “A” and Section “B”.

In the Section “A” Question Nos. 1 to 5 are Objective type. Each question
carries 5 marks.

In the section “B” Question Nos. 6 to 26 has Internal option.

Question Nos. 6 to 10 carries 2 Marks Each.

Question Nos. 11 to 14 carries 3 Marks Each.

Question Nos. 15 to 21 carries 4 Marks Each.
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[150]

grs — "

Section — “A”
eI fdbed gaax forfay —
() ar — 3% 2 1 Gagram e
(x—-6)(x+a) x—6 x+a
(@) 1 (b) 2
(c) 3 (d) 4
(i) afg tan'x —tan”'y = tan'A @1 A BT HIH EFIT—
@ x-y (b) x+y
€ -2 @ 7
14+ xy 1—xy
(iii) AT Xy, yz TUAT zx BT FHIGRT HHT: & —
(@ z=0,x=0,y=0 (b) x=0,y=0,z=0
(c) y=0,z=0,x=0 (d x=0,z=0,y=0

(iv) afe dfeer aj—2j+3kaem 3i+ 6] — 5k IR¥WR o/ & dl a @I
A BRTE—

(@ 9 (b) 16
(c) 25 (d) 36
(v) a4 (a,b,c,) & x— 318 | AT T © —
(a) vb?+c? (b) +a®+b?
(c) +vc?+a? (d) +vaZ+b?+c?
Choose the correct options:—
i r—X 2 . 1 ihenthe value of ais —
(x—-6)(x+a) x-6 x+a
(@) 1 (b) 2
(c) 3 (d) 4
(i) Iftan"'x —tan”'y = tan”'A then the value of A is -
(@ x-y (o) x+y
© -2 @ 7
1+ xy 1—xy
(iii) The equation of the plane xy, yz and zx are respectively:—
(@ z=0,x=0,y=0 (b) x=0,y=0,z=0
(c) y=0,z=0,x=0 (d x=0,z=0,y=0
Page 2 of 12
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[150]

(iv) If vector ai—-2j+3k and 3i+6j—5k are mutually
perpendicular then the value of a is :—
(@ 9 (b) 16
(c) 25 (d) 36

(v) The shortest distance of point (a, b, ¢) from x— axis is:—

(a) vb?+c? (b) +a?+b?

(c) +vc?+a? (d) +va®+b?+c?
f=forRad oMl & 9 /3 oy —

(i) B @1 d9 Aeger gR1 FgiRd |fden &1 anT g g
2 |

(iy afe a=2i+3j—4k g b=i+2j+4k & @ a.b &1 7F
I BT

(i) \EHdT O BT A —1 3R +1 & FeF BT |

(iv) e &I ndf [dada © a” e
.1 2 3
V10710410

Write true/ false in the following statements —

(v) afesr -3k & fie Bt Ha

(i)  The sum of three vectors determined by the medians of
a triangle directed from the vectors is zero.

(i) If a=2i+3j—4kand b=i+2]+4kthen the value of a.b
will be zero.

(iii) The value of co—relation coefficient lies between —1 and
+1.

(iv) The n" derivative of e is a" e®*.

1 2 3
V10" V0" V10

(v) The direction cosine of vector i—3k are

respectively.
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[150]

ﬁ’cﬁ?ﬂﬁzﬁ‘{ﬁaﬁm:—

(i) X;1:y;1:2+4wo1 I C - A BIH STl B |

(i) TH W B I MABR @R @ BFoar 3 w8, 9
M URTTT BT TR o BT |

(i) I y=x"B ATy BT N AT JTBAT oo BT |

(iv) y— 31T & FATR FATA BT THIDBRT oo BT |

(v) 3T & ®U H AATA BT AQ FHDT o =

Fill in the blanks:—

(i)

v)

iii)

(
(iv)
(

X+1 y-1_ z+

Straight line 3 54 passes through the point

then rate of change of volume will be ........... .

If y = x" then the n" differentiation of y will be ............. :
Equation of plane parallel to y — axis will be ............. :
Vector equation of the plane in normal form s .............. .

=1 gl | UA® BT TP e /AR H IR SIS

(1)

AEITHS FHIBRU & JIKIdd Hel S B DI qad Ui
fafer &1 = oty |

0.23452 E07 + 0.31065 EQ7 &1 A foify |

FHEROT x° — X — 2 = 0 BT ol b 3R # 27

arifres fafdr & e s M &1 9= faRag |

I XBad A gR1 Bl H@ar &1 v Sd R BT GA
fereg |

Write the answer in one word/sentence each.

(1)

Write the name of Ancient method to find out the real root
of a Numerical Equation.

Write the value of 0.23452 EQ7 + 0.31065 EO7.

In which interval does the root in the equation x> —x — 2 =
0 lie?

Write the formula of Trapezoidal rule in numerical
method.

Write down the formula of Newton Raphson method to
find out the square root of a number.
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RS ISIICRIFIES (1x5=5)

3 g
(1) [ dx i) tan'x
X
1 . -
2) j1+x2 dx (i) cot 'x
(3) [tan x dx (iiiy —2
log,
1 .
(4) -[_1+x2 dx (iv) log x
(5) Iax dx (v) log sec x
(vi) sin™'x
Match the column:
e B
(1) [Ld (i) tan'x
X
(2) j1 +1X2 dx (i) cot 'x
(3) [tan x dx (i) 2%
log,
1 .
(4) I—sz dx (iv) log x
(5) jax dx (v) log sec x
(vi) sin”'x
s — “q"

Section — “B”
afg P qenr Q & f<eria &S (4, —1, 7) @O (3, =3, —1) &, Ifew (2)

PQ SId ox& SHdI Ad ST B |
If the coordinates of P and Q are respectively (4, —1, 7) and

(3, =8, —1), find the vector PQ and compute its magnitude.

3rerar / OR
arxwr (1-2j) & TR weie Rk s $ik |

Find a unit rector parallel to the vector(f —2]).
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7 gfe a=2i+Aj+k @ b=4i-2]-2k WER <gaq & o (@)
Jffeer A &1 719 =1 B |
If 2=2i+Aj+k and b=4i-2j-2k are perpendicular to
each other then find the value of scalar A.
3rerar/ OR
afeer i+ R AR -] @1 ye" s SN |
Find the projection of Vector i —j on Vectori +j.
U8  gfe d=2i-3]+kaa b=3i+2] 8 @ axb & A4 w@ ()
PIRTY |
fa=2i-3j+k and b=37+2] then, find axb.
3rerar/ OR

I Ml BT AfSY FHIBROT Td BRI FHIGROT S bIfTu fSraasT
&5 (-1, 0, 1) Td 3= 2 7

Find the Vector equation and Cartesian equation of the circle

whose centre is (-1, 0, 1) and radius is 2.

9 j 1 dx T 919 ST I | @)
el +e*
Evaluate f 1 dax.
e +e”
AT / OR

Ix\/x2-1dx BT A9 ST BN |
Evaluate Ix\/x2-1dx.
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| dx S T A A BT @)
9-4x
dx

Evaluate '[97
—4x

3rerar/ OR
Ilogexdx BT {1 BT |
Evaluate J.IogeX dx.
a1 NERN & 3P U HH: 2, 3, 6 1, 2, 2 B| §b I F (3)
=IABIT ST HIFTY |

Find the acute angle between two lines whose direction ratios
are 2, 3,6 and 1, 2, 2 respectively.

GTWZOR
ﬁ@ﬁmﬁswmzsmvﬁzmﬁamaﬁwcos-@jm

=

Show that the angle between any two diagonals of a cube is

003‘1(1J.

3

fa=gati A (2, =3, 4) @ B (-5, 6, 7) &I ™ dTel X@Eve & 49 (3)
HHHR §9R- T Tl BT AHIDBRIT ST HIFTY |

Obtain the equation of the sphere describe on the joining of
the point A (2, =3, 4) and B (-5, 6, 7) as a diameter.

3erar/ OR
k @ 719 S1q $HIY afe @ |
x-1_y-2 _z-3 qorr x-1_y-5_2z-6 RER A & |
3 -20/3 2k 2k 3 -4

Find the value of k, if lines.
x-1 y-2 z-3
3  -20/3 2k

perpendicular.

Xx-1 y-5 z-6
2Kk 3 -4

and are mutually
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i fafer | Rig SIfg fo— (3)
cos (o - B) = cos a. cos B + sin a. sin B

Prove by vector method that-

cos (o - B) = cos a. cos B + sin a. sin f.

3erar/ OR
Rig SIS b Sfgded BT BT FHBIT iyl © |(|feer fafer )

Prove that the angle in semi-circle is right angle. [By Vector
Method].
afe i-3]+2k 3R 2i+4j+k & @fewi & 4/ &1 w1 6 B @)
a1 g aifoie b —

115

sinf=,—
147

Show that the angle between the vectors f—3]+2R and
2i+4]j+k is 0. Prove that—
sinB= 115
147

3rerar/ OR
Rig Y b —
ax(b+6)+bx(E+a)+Sx(@+b)=0
Prove that :—
ax(b+¢)+bx(E+a)+cx(@+b)=0
X+3 oy afer foit % o AR @
(x+2)(x2-9)
X+3
(x+2)[x2-9

Resolve

) into partial fractions.

GT?JHTZOR
3
X @) it R N e @ |
(1-x)*

3
Resolve

(1 )4 into partial fractions.
— X
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Rig dIfvy f — (4)
. 13 45 . _156
sin —+tan —=sin" —
5 12 65

Prove that —
_1@

65

STQRITZOR
g, @ g fohm & —

. 13 45 .
sin —+tan  — =sin
5 12

afe tan”' x+tan'y +tan™ z:g
Xy +yz+zx=1

lf tan'x+tan'y +tanz = g then prove that -

Xy +yz+zx=1

ver Rigid & cos X &1 3ddhel T[0T HTd BT | (4)
Differentiate cos x by First Principle.
3rerar/ OR
af y =log,(log, sinx) &1, ar % ST DI |
If y =log,(log, sinx), then find %
afg x¥ =e¥*qr, g felm b — (4)
dy _ 2-logx
dx (1-logx)?
If x¥ =e¥™, prove that -
dy _ 2-logx
dx (1-logx)?
3rerar/ OR
afe y=xZlogx =1 I, Rig ST 6 —
dty -2
dx*  x2
lf y=x%logx then, prove that —
dty -2
ax* X%
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919 Ryg BT b Berd x® —3x2 +3x—100 9 arafde Gl & @)
for) T 2|

Prove that the function x® —3x? +3x —100is increasing in R.

3rerar / OR
B f(x)=4x2-12x+9 @ foQ a1 [0, 3] & o & W
®I St BIRTY |
Verify Rolle’s theorem for the function f(x)=4x?-12x+9 in
the interval [0, 3].
520 fig @Y : FEddy e p &1 A -1 9 +1 & i g 2 4)
Prove that : Value of correlation coefficient p lies between -1 to
+1.

3rerar/ OR

fFifhd Jou gl & oy We—UaRol S1d HITY —
(1, 6), (2, 9), (3, 6), (4, 7), (5, 8), (6, 5), (7, 12), (8, 3),
(9,17), (10,1).
Find covariance for the following data :-
(1, 6), (2, 9), (3, 6), (4, 7), (5, 8), (6, 5), (7, 12), (8, 3),
(9,17), (10,1).

921 I FABEU W@ HH 2X -9y +6=0 TqAT x-2y+1=0 & (@)
dl, |98 |aY YUlies Bl TUMT B |
Given the regression lines as 2x-9y+6=0 and
x —2y +1=0 respectively, calculate the correlation coefficient.

STWTZOR
ferforRaa sriwst | y &1 A9 39 $HIT oafe x = 12,
Syof] X y
e 7.6 14.8
AMD [dae 3.6 25

Tgaey und p = 0.99
Estimate the value of y from the following data when x = 12.

Series X y

Mean 7.6 14.8

Standard Deviation 3.6 2.5
Coefficient of correlation p = 0.99

[150] Page 10 of 12



22 g (2, -1, 5) ¥ @1 X1_011:y+42+ZJ;?W W T o BT ©)

qTe TAT F G &I TS ST DIoTY |
Find the foot of the perpendicular drawn from the point

(2, -1, 5) to the line X1 :Y+42+Zﬂ;?

. Find also the length

of the perpendicular.

3rerar / OR

g Tiren fasgalt (1, =3, 4), (1, =5, 2), (1, =3, 0) ¥ oK &,
SAGT H% FHdA X + Y + z = 0 IR RIA@ 2| el &1 FHIHR0T 1
PITY |
Find the equation of the sphere passing through the points
(1,-3, 4), (1, -5, 2), (1, =3, 0) and its centre lying on the plane
X+y+z=0.

923  fA=ifdhd @ /9 S SIfeig — (5)

lim sinx. cos x
Xx—0 3x
lim sinx.cos x
x—0 3x

gerar/OR

Evaluate :-

R1g @I 6

f(x):{xz Sd X #1
2 o9 x=1
X =1 TR 3Fdd 2 |

2 when #1
Show that f(x) =4 X X
2 when Xx=1

Is discontinuous at x = 1.
g24  Ryg s fb — (5)
J‘TF/? Jsinx dx —
0 +/sinx ++/cosx
Show that :-
J-T;/Z Vsinx_ T
0 +/sinx ++/cosx 4

AT / OR
TGS X +y*=a° B gd BT AT SFHS S BT |
Find the total area of circle whose first quadrant is x* + y? = a°.

A3
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[150]

JqBA FHIBRUT %:4y$‘r Tl DI | (5)
X

Solve differential equation :- % =4y

3rerar/ OR

2
%@W%WS—Z+W:O BT BT y=4sin3x |

X

oy
2

Verify that the solution of ]
X

+9y =0 isy =4 sin 3x.

52 ORI T 3] TRE Wl gy TSl 4 9 Argeedl 1 Al Harar (6)
ST & | $99& gepT IT d1G3ME BIF &l TAT 7 B DI U1 SId
BIFTY |

A card is drawn at random from a well shuffled pack of 52

cards. Find the probability that it is either an ace or a king and
probability it is neither an ace nor a king.

3erar/ OR
I T oY 9Y &7 AIgeed 99 fhar w3 8 ar s9 99 # 53

RIIaR B9 &1 YTl SiTd BIfTY |

Find the probability that a leap year selected at random will

contain 53 Sundays.
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BRR ADHUSY &, S — 2018
151
fawa : gepRAfead ufdcaw
Subject: INFORMATICS PRACTICES
(Hindi & English Version)

|HI : 03 TS quiies : 075
Time : 03 Hours Maximum Marks : 075
faeer—

() T T 87 BT A9 &/

(i) HeT HHAIF 1 @ 4 T TGS J97 &/ I 797 5 35 &7 &/

(i) ¥ HHIH 5 @ 8 TF JAH ¥o7 & ford 2 & [ERa & wav &ar
ST 30 F1T &/

(iv) o7 ZHIE 9 & 12 TF FAF H97 & [ord 3 3F [Fa &/ g dar
T 75 T &/

(v) F¥T BHIE 13 & 17 TF JAF F99 & [eid 4 3F [T &/ s<v dar
ST 120 17 &/

(vi) F¥T HHF 18 & 20 TF A% Ho7 & [ord 5 & [wRa & sav &dar
TTHT 150 5 &/

(vii) H¥T FHHIE 5 G 20 GF # e ey 77 13 &

Instructions:

(i) All questions are compulsory.

(i)  Question Nos. 1 to 4 are objective type questions. Each question is allotted 5
marks.

(iii)  Question Nos. 5 to 8 carry 2 marks each. Answer word limit is 30 words.

(iv) Question Nos. 9 to 12 carry 3 marks each. Answer word limit is 75 words.

(v)  Question Nos. 13 to 17 carry 4 marks each. Answer word limit is 120 words.

(vi) Question Nos. 18 to 20 carry 5 marks each. Answer word limit is 150 words.

(vii) Internal options are given in question Nos. 5 to 20.

[151] Page 1 of 8
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[151]

frfeiRad & 9 |81 IR BICHR 37U IR GRADT H felfag—

()

(@)

WUSS HAIeYel Pl TR & —

() DLL (i)
(ii) BAS (iv)
Jp—yvs e o afRa g —

i) i (i)
(i) (iv)
3ffsoide & A9 BT JffSdHad AT B—

()  20—dTgeH (ii)
(i) 4o—ardew (iv)
SRNENRRS I

(i) OR (ii)
(i)  NOT (iv)
PL/SQL Ta....... TS B

() UrioRa (ii)
(iii)  Sifeside sNRT<e (iv)

FRM
CLS

SEACK]
PR

30—d18cH
60—dTSCH

AND
XOR

- TR

SIBSCK]

Choose the correct alternative and write in your answer book-

(A)

(B)

Standard module has the extension-

(i) DLL (ii)
(i) BAS (iv)
Back-end is related to-

(i) Screens (ii)
(i)  Forms (iv)
Object name maximum limit is-

(i) 20 - Bytes (ii)
(iii) 40 - Bytes (iv)
Disjunction operator is-

(i) OR (ii)
(iii) NOT (iv)
PL/SQLisa ............... language-

(i)  Procedural (i)
(iiiy  Object oriented (iv)

Page 2 of 8

FRM
CLS

Database
Cursors

30 - Bytes
60 - Bytes

AND
XOR

Non procedural

Low level
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U2

U3

[151]

frfoad Rad It @ gif $ifvm—

I LR o A ) A AT w1 SIar
g |

(il) T TRIOTRT e ey el <dl T |

(i) I T I TR oo ST TI8Y & gRT ST Sl 2 |

(V) UML oo Afeel TR SMTRA 7 |

(V) TH V.B IRITA oo DI | HH BT A1 |

Fill in the blanks of the following-

() |.P packets are also called.............................

(i) Sub Procedures donothave ..............ccceenenen. value.

(i) True and False values are represented by............... data
type.

(iv) UMLisbasedon.........cocoevviiennnnnnnn. model.

(v) A V.B.variable must be lessthan ............... character.

A /T dd1gd:

() SQLU® %o+ 9 PL/SQL &+l & <t &I foharfrad &
g |

(i) TCP @ UDP M & Ud & ®RI & o IUINT fdHar S
g |

(i) INPUT BOX g MSG BOX waer &H ¥ |

(iv) oo & START FHha=ae & SeRE @ fod g 2

(v) e gfedy A | g @ ' 9l §

State true/false-

(i) SQL executes one statement whereas PL/SQL executes
block of statements.

i) TCP and UDP both are used for same purpose.

i) INPUT BOX and MSG BOX function are similar.

iv) Loops are used to repeat the execution.

v) Weak Entity set may have Primary key.

Page 3 of 8
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9.5

[151]

Tel Sire! fAersu—

S) @)
(i) SDI (a) IR oFer ST TR
(i) =Tges i (b) TLTege
(i) VARCHAR2 (C) e
(iv) COLUMN (d) <9 <A
(V) B d7d (e) TRl SlagHe gevhd
(f) GOTO
Match the following-
(A) (B)
(i) SDI (a) Variable Length Datatype
(i) Child Block (b) Attribute
(i) VARCHAR2 (c) Connection
(iv) COLUMN (d) Sub Block
(v) Unconditional Branch  (e) Single Document Interface
(f) GOTO
TG T 87 FHSISY |
What is Interface? Explain.
3erar / OR
STl feqerm i & ®ed &7

What is called Data Dictionary?

Page 4 of 8
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U7

9.8

9.9

[151]

ODBC a1 OLEDB # 3faR &Iy |
Differentiate ODBC and OLEDB.

3rerar/OR
TGS T 272

What is subroutine?

U el o hed 27
What is called Anonymous Block?

3erar/ OR

ST YA Bl TS |

Explain Data Encapsulation.

SQL BRI Bl TRYTRT B |

Define SQL Cursor.

3erar/ OR
SQL FAS 1 FHeEY |
Explain SQL queries.
B Bl Ricad e FHsSy |

Explain function with syntax.

Jrerar/OR
TR gSfeliT 7 SUARfT 87

Why Error Handling is useful?

Page 5 of 8
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v.10

U.11

912

U.13

[151]

SQL g PL/SQL ¥ 3idR BIfoH |
Differentiate SQL and PL/SQL.

gerar/OR

RIS ST AT IS UBRI Bl AHSISY |

Explain Distributed Database and its types.

V. B. & Time Value BaeE g2 Val BaeH &l IS |

Explain Time Value function and Val function in V.B.

gerar/ OR

DAO, RDO dm ADO &I TH=ITsU |

Explain DAO, RDO and ADO.
GOTO @I NULL RecHe & SudrT forfay |

Write the uses of GOTO and NULL statements.

rerar/OR
WHILE o[ @1 sy |

Explain WHILE LOOP.
ST JIRETS IAT ST ATSHIT BT AHSSU |

Explain Data Warehouse and Data Mining.

arerar/ OR
R.D.B.M.S. &I WHsISY T STBT HiHAT BT IR |

Explain R.D.B.M.S. and write its limitations.

Page 6 of 8
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914  IRUGH & WhIU, SYRIF AT ATDI DI AU | (4)

Discuss Scope, Duration and Location of variables.

3t/ OR
FWUSS AT TN AGgA H 3R BITY |

Differentiate standard and class module.

15 S gioae &I Uiuchal Afed afRyiid &g | @)
Define Database Transaction with its properties.

arerar/OR
PL/SQL 9 Y=a=T & fafi= Jae= IHssy |

Discuss different sections of PL/SQL program construct.

9.16 PL/SQL # IF-THEN deo IF-THEN-ELSE wc#cd &I 99y | (4)
Explain IF — THEN and IF - THEN — ELSE statements in

PL/SQL.

gerar/ OR

INSERT, UPDATE a2 DELETE ¥<cHeH &I HHSISY |

Explain INSERT, UPDATE and DELETE statements.
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.19

.20

[151]

WIS URIoR & I~ amil &1 F+9ssy |

Explain the advantages of stored procedure.
3erar/ OR

frfoaRad &1 THsTsT:

To - Char, To - Number 21 To - Date.

Explain the following-
To — Char, To — Number and To — Date.
STIed & ATaAIIS YANT AHESU |

Explain business application of database.

STQTCH[OR
SDLC &' fafi=1 =7 WR =af HIfoiu |

Discuss the different steps of SDLC.

INPUT BOX R &l S9& Riead dAfzd eS|

Explain INPUT BOX function with its syntax.
3rerar/OR

V.B. & &= Ul ReT M & Ricad afed aHssy |

Explain any five string functions of V.B. with their syntax.

V.B. # ISR & USRI BT FHEY |
Explain types of procedures in V.B.

3rerar/ OR
SDI g MDI ®H &7 |HssY |
Explain SDI and MDI form.
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BRR ADHUSY &, S — 2018
161
oy : v 9 ha
UIRESCICE WA LRSS CIRCICICS)
Subject: INDIAN MUSIC

(Vocal & Instrumental/Tabla or Pakhawayj)
(Hindi & English Version)

|AA 1 03 T quiieh : 50
Time: 03 Hours Maximum Marks: 50
fader—

() 139 o v @ue > Gt gear BT a9 &
(i)  7%7 97 9§ g @vs 4 13 &/

Gus 3 — TFT VT qraT

GUS § — TIAT AT TEHTA

Instructions:
(i)  All questions are compulsory from any section.
(ii)  There are two sections:
Section A — Vocal and Instrumental.

Section B — Tabla or Pakhawaj.

[161] Page 1 of 8
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U2

[161]

yYls — A

SECTION - A
REAEISIERIERIES ()
(i) <1 a1 e ¥ ¥ wr ¥ fAlEa —  Udm
(i) ey — X HRa
(i) we w@R —  fodifeq o=
iv) R S TRE T AU S aRE q0T db  — DI WK
(V) T HTelE AT YdhTer 0T — Aol I
Match the columns correctly —
(i)  Two or more than two mixed Raag -Poorv Raag
(i) Aalap - Raag Marwa
(iii) Touch note - Vilambit laya
(iv) 12.00 morning to 12.00 night - Kan Swar
(v) Evening Sandhi Prakash Raag - Sanakirn Raag
T AT T TorRRa: (5)

(i) ITT — AT BT T FHT 7eg A ¢ |

(i) ¥R & SaRA HH BT AT Bad 2 |

(i) I, DR HUE AT A SIS BT € |

(iv) o, fadfed o & g I 2 |

(V) UER Ugfd # fa9RT &1 g =1ET grar |

Write True or False —

(i) Gayan — Samaya of Raag Asawari is Madhya Ratri, (Mid
night).

ii) The descending order of swaras is called Avaroh.

iii) Raag kedar is produced by kalyan Thaat.

iv) Taan is sung in Vilambit laya.

v) There is no symbol of division in Paluskar System.
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U5

[161]

Rerr It 1 i AR — )

(i) SRRl BT T TS TR TR oo =
()T S A OO iRt 7 |
D IS LE ARG RURC LI | =
(iv) TR H T AT H e 91T 81 3 |
(V) R = R oo o W IUF BT ¢ |
Fill in the blanks-
(i)  The Number of Shruties in Shadaj Swarais ..................
(i) Thereare .....cccooviiiiiiiiiiiiiien vanies in Dhrupad.
(iii) The Number of Teevra Swaras are ...........ccceeeveiiinenen.
(iv) Thereare ..........c.ccoeennee. bols in one matra of chaugun.
(v) Raag Bhairav is produced by.........cccoooiiiiii
thaat.

T — fI8TT &7 IR — 3raRiE forfey | )
Write Aaroh — Avroh of Raag Bihag.

3rerar/OR

RMT—9UTelT BT aral—Haral R fore |

Write Vadi and Samvadi swar of Raag —Bhupali.

T DGR BT IR — IfARIE ol | 2)
Write Aaroh — Avroh of Raag Keder.

STQTCH[OR
AT JIATIY BT aTe] — Haral @R forlRay |

Write Vadi and Samvadi Swar of Raag Asavari.
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[161]

TR’ {5 d'd 87
What is Dhamar?
3erar/ OR
AENT T MY T AT &7
What do you understand by ‘Lokgeet’?

dTel freTaTeT &1 Sahl, 18 Ud g o H falkay |

Write the Theka of Taal Tilwada in Thaha and Dugun laya.

3erar/ OR
dTel <9 Tl T Sabl, B8 Ud g+ &g H foRed |

Write the Theka of Taal Trital in Thaha and Dugun laya.

foelt v a3 aresd A &1 Sied aRag R |

Write life-sketch of any one Instrumentalist musician.
3rerar/OR

fpdl U s Aias &1 Siiga uRery foried |

Write life — sketch of any one Vocalist musician.

ore fhd ded 8?2 10 arel & AW forRed |

What is Thaat? Write down name of Ten Thaats.

STWTZOR
T, YIqEvs Sff & dis ura R forfa forg forRay |

Write down any five swar lipi chinhas of Pt. Bhatkhande Ji.

U a1 B e @) fafy forRay |

Write Tuning Process of your Instrument.

GT?J_ClTZOR
9 el bl Gerd sfaer oIl |

Write short history of your Instrument.

Page 4 of 8
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U141 G @1 9fosr’ vy W 3mH faer foRay |

Write your views on “Future of Music”.

3erar/ OR
T (T — a1e+) & ARSI el I DI MaeIdhdT [awT W)
3o+ faemR foaRa |
Write your views on Requirement of Tabla Accompaniment in
Sangeet (gayan-vadan).

g — §
SECTION - B
GERIRCEIECIEN))
Tabla or Pakhawaj

9.1 |El Sifedl 9918y —

(30) C)
(i) <7 fovmT — U T
(i) =R favmT — SIS
(i) IRE H=T — EEGIC
(iv) U% A1 H a1 9 — wUD
(v) 9 faWmT — Bl
Match the columns correctly —

(A) (B)

(i)  Two Divisions - Ektaal
(i) Four Divisions - Dugun
(ii) Twelve Matras - Jhaptaal
(iv) Two Bol in one Matra - Roopak
(v) Three Divisions - Keherwa

[161] Page 5 of 8
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[161]

A AT I frlRa:
() & RFBozT
(i) < qEAT ABS! BT I BIAT & |
(i) T UHaT § v T B 7
(
(

iv) USTPR YETaS &I T © |

v) DTl TIRE AT &7 a1 © |

Write True or False -

(i)  The chinh of Sum is 0.

(i) Right Tabla is Made of Wood.

(i) There is one division in Taal Ektaal.

(iv) Peshkara is a composition of Pakhawa,j.
(

v) There are eleven matras in Taal Chautal.

Fill in the blanks -
i) Measuring time scale in Sangeetis ............cccoooiiiiiin.

i) Thereare ........ccoovveviiiiiinnnnn. Prans of Taal.

(
(
(i) Khaliin Taal Tritalare ..........ccoooeiiiiiiiiiine :
(iv) Middle layaiscalled .........c.cocoviieinininnnn. laya.
(

v) The sign Khaliis ......ccccooooiiiii, in Bhatkhande

System.
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[161]

HRIET 6 Fed 57
What is kayda?
3erar/ OR
qTell &I gR¥IYT BT |
Define Taali.
fIcfed o &1 aR|TiT SIS |
Define Vilambit laya.
3erar/ OR
g ¥ 3T RAT FHET &7
What do you understand by Drut laya?
dTel ®Ud DI 318 UG G o1y |
Write Thah and Dugun of Taal Roopak.
3rerar/OR
el W va ugfa & @13 IR a1 forft o forRey |
Write any Four Taal - lipi Chinha in any one system.

dTel —g|R P1 SHhI, o8 T gIad H feifiag S |

Write the Theka of Taal Dhamar in Thaha and Dugun laya.

3rerar/OR
ATl ATl @ I T Mmaa # faRad |

Write the Dugun of Taal Chautal in one Aavartan.

AT H IS Udh UIhR Ud Udh brael fIRkad |
Write any one Peshkar and one Kayda in Teentaal.

3rerar / OR
dTel @eval Bl o8 Ud g [l |
Write the Thaha and Dugun of Taal Keherwa.
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[161]

fPdl U dgelT drgd bl Sira-l forlRay |

Write the life sketch of any one Tabla Player.

AT / OR
f< T gdETaSt argd Bl Sirae forfRead |

Write the life sketch of any one Pakhawaj Player.

T 31JAT TS & TR0 [T BT qui HIRTY |

Describe all the parts of Tabla or Pakhawaj.

Jierar/ OR
31T ATgY BT AMIbd o a8 |

Draw a labelled diagram of your Instrument.

=1 9 9 5 e fovg w fAey ke

() g Sfred # Fa

(i) 0T | It e o U

Write an essay on any one of the following topics -

(i)  Music in Human life.

(if)  Utility of Percussion Instrument in Music.
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165
fawa : ¥ (el va fa=m)
Subject: AGRICULTURE (Arts & Science)
(Hindi & English Version)

quifd : 075

Maximum Marks : 075

faser —

Instructions: -

[165]

(i)
(i)
(iif)
(iv)
(v)
(vi)
(vii)

(i)
(ii)

(iii)
(iv)
(v)

(vi)
(vii)

wft g7 ST &/

TeT HHE 1 & 4 TF TG FHR B J97 8 §9F 597 5 & &7 &/
o FHIE 5 W 8 TF JAE JI7 2 3F BT 8/

o7 HHE 9 @ 12 TF B J97 3 3F BT &/

o7 FHE 13 & 17 TF FAB J97 4 3F BT &/

g7 HHIH 18 & 20 TF IAH 97 5 3 T &/
g7 HHF 5 T 20 d& T F saRe RAeey T 77 &/

All questions are compulsory.

Question Nos. 1 to 4 are objective type questions. Each question carries 5
marks.

Question Nos. 5 to 8 carry 2 marks each.

Question Nos. 9 to 12 carry 3 marks each.

Question Nos. 13 to 17 carry 4 marks each.

Question Nos. 18 to 20 carry 5 marks each.

There are internal choices in all questions from Q. Nos. 5 to 20.
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[165]

qEl fdeed -

(i)

T B B

(1) <mrag 2) W%

3) <&@ (4) SWREd H | B3 T8l
HAd STed § fHfIRad we &1 Sdre 8IaT 28—

(1) 3 () =

@) T @ e

faftre @<t & va € SEm 9 'F arell 3 B 8-

(1) 25% < 1fedH 2) 50% W 31w

3) 75% W 1fdH (4) 100% = 31fdr®

Th ol = § 9 fhae sia aiftie auf arel el 9 @
ST 87

(1) 50 HHRER & BH (2) 100 & 150 HEHIER
(3) 150 & 250 HEIHIER (4) 250 AEHER A 1fAdH

[ Tl BT Hifdd HRD o—

(1) ®ar () dqmIEE
3) = (4) Yebrer
Choose the correct option-
(i)  Wheat crop is-
(1) Zaid (2) Kharif
(3) Rabi (4) None of the above
(ii) The following crop is produced in crop production.
(1) Potato (2) Mango
(3) Rose (4) Paddy
(iii) Specific farming should have minimum income from an
Enterprise-
(1) over 25% (2) over 50%
(3) more than 75% (4) more than 100%

Dry farming is done in areas with average Annual
Rainfall-

(1) Lessthan 50 cm (2) 100to 150 cm

(3) 150 to 250 cm (4) More than 250 cm
Dry farming revolutionary factor, is-

(1) Wind (2) Temperature

(3) Moisture (4) Light

Page 2 of 8 ()
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[165]

I /3N forlRau—

(i) TUREA T @ IART Wb AT F TS B
(i) T B AT g off dE |

(i) SRE B U @ & M A W ST 1T 2 |
(

(

iv) STSERT SR ST R WO H 7

v) fawa ¥ Haifee ¥4 A9t # U8 Sy € |

Write down True / False-

i) The word Agronomy is derived from the Greek language.

ii)  Moong is also called Green gram.

(

(

(ii) Arhar is also known as Pigeon Pea.

(iv) National Dairy Research Institute is in Bhopal.
(

v) Most buffaloes in the world are found in Nepal.

(i) I & o R e ] IR BT &
(i)  3TTEST ATSAST BT WLTT. AT oo BT &
(iii) TR fofy gRT g & A BT gferera Sd &R 2 |
(iv) TTETHICR ERT G BT oo SIGEGIG
(V) ST AIREY G BT oo T B ©

Fill in the blanks-
(i) Vitamins is prepared from ultraviolet rays of the sun.

(i) The good silage has apH value.........cccccoeveviiiiiiiiinn.

({11 I percentage of milk samples is tested by Gerber
Method.

(iv) Lactometer is used to measure the .................... of milk.

(v) Cream separator is used to separate............. from milk.
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SRASISIECE IR (1X5=5)

() Ry $u wder (31) AT JARA
(i) wve e R @) AT S [T
(i) wed dfed () I=Telr AT
(iv) <q=ar I ®) ®EE
(v) & () U ETar
Match the pair-
(i)  Strip cup test (a) Salmonella pullorum
(i) White diarrhoea  (b) Viral disease
(i) Fowl Pox (c) Mastitis
(iv) Rickets (d) Casein
(v) Milk (e) Nutritional deficiency disease
Riars @1 gRwmm fofRau | 2)
Write down definition of Irrigation.
srar/OR
Rfars & e fafag |
Write down objectives of Irrigation.
frrforRaa woal @& amafas =M falRag— 2)
(@) =
@) e
Write the botanical name of the following crops-
(a) Paddy
(b) Soybean
3rerar/ OR
frforRad waell @& aefae 9™ faRay—
()
@ Ss<

Write the botanical name of the following crops-
(@) Moong
(b) Urad
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BT OR UTel ST dTel Ugfell & o feTRag |

Write benefits from livestock (farm raised animals).

3erar/ OR
BT OR Ulel S dTel U3l &7 auiiror forRay |
Write the classification of livestock on the farm.
T urere 1 wew TRy |
Write the importance of Poultry.

3erar/ OR
T urer= & faer H e faRkay |

Write obstacles in the development of Poultry.
B b B g foikey |

Write the principles of crop rotation.

gerar/ OR

el T b o foIRay |

Write the benefits of crop rotation.
WERUTART & B arell gt forRaw |
Write the losses from weeds.

rerar / OR
WROTIRT W 8 Tl oy forfau |

Write the benefits from weeds.
qreg YT b UAROT & e forfRau |

Write the modes of transmission of plant diseases.

Jrerar/OR
ANfye At grT die fa=or forlkay |

Write insect control by physical methods.
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3fTel @ Tl fereforiRaa famgert # faRag—
(1) aryfd A™

@ S=a fes

(9) Sust

Write down the Potato cultivation in the following points-
(a) Botanical name
(b) Advanced varieties
(c) Yield
3rerar/OR
THICR &1 W1 fereforiRaa fawget # ferRag—
@) arefae A
@) S=a fes
@) Suw

Write down the Tomato cultivation in the following points-
(a) Botanical name
(b) Advanced varieties
(c) Yield
RiarE v oo eN # sfar forRag |
Write the difference in irrigation and drainage.
3rerar/ OR
STel 6T TR 99Tg STee dTel RS foIfRay |

Write the factors affecting drainage.

Y—HIETOT BT Heed foIRay |

Write the importance of land surveying.
3rerar/OR

Y—HEOT H IUANT H A drel AT & A oIy |

Write the names of equipments used in land surveying.
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= B Tl FferRad fawgalt # forRau— (4)
(1) aryfd A™

@ S=a fes

(@) 96 )

(7) S

Write the Gram cultivation in the following points-
(a) Botanical name

(b)

(c) Seedrate
(d) Yield

Advanced varieties

3rerar/OR
HeR Bl Wl FfeRad fawgait | forRag—
(31) arTEfae A
@) S=a fes
(@) 96 )
(%) S

Write the Pea cultivation in the following points-

(a) Botanical name

(b) Advanced varieties

(c) Seedrate

(d) Yield

3BT fH BT T8I U B & SU foIlRay | (@)
Write the steps to get good quality curd.

gerar/OR

Y BT TR IRy |

Write the process of Ghee renewal.
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SR gt & e filkag | (4)
Write the symptoms of sick animals.

3erar/ OR
Tg] M F9rg Ud Il JhAH ey |

Write the Prevention and control of cattle diseases.
T HITST IR G491 Tl It hReb [Ty | (5)

Write the factors affecting the composition of milk.

3erar/ OR
T & 4ifde o1 fofy |
Write the Physical Properties of Milk.
gahe e FHvr & fofw wIF &1 99 &Rd 9HI dia—dE Al (5)

qTdl BT g1 /gAT ATRT?

What things should be taken care of when choosing a place
for building a poultry house building?
3rerar/OR
3SR HaHe ATl & HII—dI | 07 BT A1RY?
Write the Attributes of an Model Poultry House.
Tg o @ Ieed Ry | ()
Write the Aims of cattle breeding.

3rerar / OR
Uyl USiHE H WRBR gRT fby 1Y v faRag |
Write the efforts being made by Government for cattle

breeding.
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T goT et &/

T&7 HHF 1 5 TF TG0 Jo7 & FAT o7 & 175 &5 & [T &/
7o FEE 6 & 26 aF I gE 7 IakE Reey 89 T4 8 7@ %
7o @1 gv T [EiRa 8

IF 97 & [ory JTaicd & J97 & T Jidd &/

All questions are compulsory.

Question Nos. 1 to 5 are objective type questions. Each question carries

5 marks.

Internal options are given in question Nos. 6 to 26 and each question carries a
word limit for the answer.

Marks allotted to each question are mentioned against each question.
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Rert el &1 gfef BTy — (1X5=5)

() ¥Ra & gfam o el &1 ufrg fef = 37

(i) TR <A P AW URA M FHC oo P M W
UsT |

(i) MRA H Ugell T ST AT T oo H
T @t 78 |

(iv) "IN UUS dodRel AT qd & ol@d BT A ...
.................. g |

(V) WRd # A TN T GAD D DD oo =

Fill in the blanks.

(1) s is the main Hindu Pilgrimage in the West of
India

(i) The name of our country ‘Bharat’ is on the name of the
great emperor .............. .

(iii) The first National population plan was declared in the
year ..............

(iv) Author of the book “Social and Cultural Mobility” is

(v) Author of the book “Caste and Class in India” is

e SIS 98T — (1X5=5)
(31) @)

() ST gH o o

(i) Rrgret UH ATHINTG AT

(i) IEA™ ARTIR dig oA

(iv) gRew faars IRA H AAERT a=e

(V) SXmEd dd goRd HIgHIS AT

Match the correct pair of the following.
(A) (B)

(i) Islam Religion Jain Religion

(i) Siddhartha A social compromise

(i) Vardhaman Mahaveer Buddhism

(iv) Muslim Marriage Kinship system in India

(v) Irawati Karve Hazrat Muhammad Sahab
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I3 /3y fafRay —

AUSS AN B 31egel o). Ul qusd o |

YRA ¥ SRYLIT (STURTEN) AT F9 1955 H URT ol |

IRA & IMoHids IR e e § sreudwd! o fiaT
a1fdres Agayet T8l 7 |

URAR, TS SR AMERT gRT E S drell fem @
AR e F8d |

Gd1d A8 P BM Fqd WRBR B Afadl BT AR HIAT BIaT
g

Write True or False —

B. P. Mandal was the President of Mandal commission.
The Untouchability (crime) Act was Passed in India in the
year 1955.

The role of minorities is not important in political and
economic development of India.

The Education given by family, neighbours and kinship is
called Informal Education.

The work of Pressure group is all time dissonance of

Government policies.
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TH g H SR fafay —

(i)
(if)
(i)
(

iv)

(v)

YR H 9o GEq¥id o f6a a9 | dF] g7

“IY AT B AR b I BI?

“AATSOIT UUS A o1 & of&dh BT A fIfau |

TRT # fbd ga=ea 9 I8 ‘SIRIGROT & YfhaT hl SR™
fapar?

TR § TR 197 F7m &7 Rg=m fea ag & T=AY?

Give answer in one sentence —

(i)
(ii)

In which year was the 1% five year plan in India started?
Who  presented the concept of  “Dominant
Caste”?

Write the name of the writer of the book “Urbanization
and Social Change.”

Which Indian Prime Minister started the process of
‘Liberalization’?

In which year the National Seed Corporation established
in India?

= A 98 fAwew g fafey —

(i)

(ii)

(i)

(iv)

ﬁﬁlﬁv—dﬁ@rfﬁ? AT T S SAEe FHS B faRar
SR

(@) EEMRY &1 fdor @) 9 AET H IATEH
(@) AfFRETa o™ & ygy (]) T WIS B [SuIRT
HreATgoe 3Th SOSIT TSIV & ohd &I A9 § —

(&) TH T T @ @ A wA shfas
@) arrs Rig () U R <9TE
ST @R 99T 9 RER—R 8} Wil axd ©, S° $ad & —
@ ¥a — wemH aif @) YShufa ove
(@) SHiTR @it (@) HoiE PYD il

YRT & AN MO § 949 GaR & b AeE &1 gaed
T 37 27

(3) AR 93 @ =t

(#) <efifaer (@) e

ARA H IAGWT A’ BT RIMUAT &I —

(@) <ar faderTs 3 (@) T M |
() WY P | (@) R rS@R o
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Choose and write the correct option, for the following:
(i)  Which one of the following conditions is not the
characteristics of Industrial society.
(A) Development of Handicraft.
(B) Production in large scale.
(C) Tendency of Personal Profit.
(D) Use of New Technology.
(i) The author of the book “Modernization of Indian

Tradition.”
(A) M.S.A.Rao (B) M. N. Shrinivas
(C) Yogendra Singh (D) A.R. Desai
(iii) The people who do farming after being retired from Army
are called:
(A) New middle Class (B) Capitalist Farmer
(C) Zamindar Class (D) Gentle farmer Class

(iv) Which means of mass media is mostly popular among
general villagers in India?
(A) Newspaper (B) Cinema
(C) Television (D) Radio
(v) Who was the founder of “Ramkrishna Mission” in India.
(A) Swami Vivekanand (B) Swami Ramdas
(C) Swami Ramtirth (D) Bhimrao Ambedkar
YRA T 41 Giaem™ fba a9 # or] gar? 2)

In which year the new constitution of India was applied?
3rerar/ OR
R g @1 eI foa &1?
Who established Sikhism?
YRA ¥ ST gfg & Bbls & HRYT fRay | 2)
Write any two causes of Population growth in India.
3rerar/ OR
ST & g g faRag |
Write one definition of caste.
IR YA & 9 fIRau | 2)
Write the names of four approaches.
3rerar/ OR
SUNTH ¥ 3 T AT 87
Explain the approaches?
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S R B Th qRHTST ferfg |

Write one definition of Mass Madia.
3erar/OR

R & Big a1 ey oy |

Write any two objectives of Education.

AT faere @ IR ®RoT Iy |

Write four causes of Social Deviance.

arerar/OR
IHTTS 3MTalet & 3] Bl TS |

Explain the meaning of Social Movement.
fe=g faare &1 ud arfie AhR 1 HET ST 57
Why Hindu Marriage is called a religious sacrament?

3rerar/ OR
IRA H UIY O a1t B: g & 9 falay |
Write the names of six religions found in India.
|qa R A & Al Bl AHSR |
Explain the objectives of Sarva Shiksha Abhiyan.
3rerar / OR
g & 31f BT W HIFTT |

Explain the meaning of Secularism.

I — IR &1 a1ef vd Seey forfay |

Write the meaning and objectives of Land Reforming.

3rerar / OR

gRasmI~a &1 87

What is Green Revolution?

SIAST g ¥ 39 T eI 27

What do you understand by elite group?
3rerar / OR

3919 g B e faRwaTd forRag |

Write the features of Pressure Groups.

UTEE 9RA § Udhdl & IR A foIfRay |

Write four elements of unity in Ancient India.
3rerar/ OR

IRAR A B AiRpiad F=Iadmeil &1 9of= By |

Describe the cultural diversities of Indian Society.

Page 6 of 8

()

(2)

(3)

(3)

©®)

(3)

(4)



U.16

17

U.18

U.19

YU.20

U.21

.22

[166]

ST QT o 7 T SR 27

What is the differences between Caste and Class?
3rerar/ OR

TSI QI STTfy # T 3T 87

What is the difference between Tribe and Caste?

U0 YR 1 31ef vd faRivant folag |

Write the meaning and features of Rural community.
3rerar / OR

T e b1 31ef vd faRivan faRay |

Write the meaning and features of Urban community.

g gRIR 1 yg e T €7

What are the main features of Joint Family?
3rerar/ OR

ATIERT ®I SOl Bl IqTeRvT Afed FHNSy |

Explain the categories of Kinship with example.
A= IRA # R @ vE T @1 g?

What are the main problems of education in Independent

India?

3ierar/ OR
IRA ¥ I & A M e Al 1 22

What are the Present Challenges before the state in India?

IR H RIS P By IR FTHRRIT BT AASMZY |
Explain any four Urbanization Problems in India.

GTWKOR
YRAY TS IR UReHIHROT & JaTd Bl FHSSU |

Explain the effects of Westernization on India Society.

T IR $ gg faRivarsii & W I |

Explain the main features of Mass Media.
3rerar/OR

ARG gRad # R1eAr @7 AT w1 auid I |

Explain the role of Education in social change.

SHifhdl & 7T TAT g8 DT ATV |

Explain the meaning and Importance of Demography.

3ierar/ OR
ST — I &1 T faRIydmRll &1 quiF i |

Explain the main features of Caste System.
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qRerM fdare @1 a5 di= faeman faRag | (5)
Write any five features of Muslim Marriage.
3rerar / OR
IRAR FPA B RARETG faRmary foriey |
Write the traditional features of Indian Culture.
fUss o & TIRRN & AAHE & oy ReR - &1 Ua f&hy  (5)
g°
What are the efforts by Government for solving the problems
of Backward classes?

3rerar / OR
HRA H AT AAFIHRT & oIy DA AT TR BT g7
Which plans are started for Woman Empowerment in India?
IRA # o @& &18 g Sy fofRau | (5)
Write any five objections of Planning in India.

3rerar / OR
e gRT fay v ArRel & Aifers IfOeERT B aHsmgy |
Explain the Fundamental Rights of Citizens given by the
Constitution.
& @1 21ef g 9 uaR falReau | (5)
Write the meaning and three types of Violence.

AT / OR
D Tl & BIs 9rd YbR IRy |

Write any five types of Social Movements.
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